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ESHATT 254 XA 300 300 0
307 21201 A 300 300 0
01 92724l 300 300 0
OREs HWaXH E3H N& 30,0002 10 300
e AF2 A &R XI& 2,000 2,500 A 500
307 gl2tol & 2,000 2,500 A 500
01 222l 2,000 2,500 A 500
O At A ZH Bl XI& 500,000& »4H 2,000
25 XA 42,773,977 33,532,640 9,241,337
= 13,191,795
& 494,402
< 14,686,643
Al 14,401,137
FROE=S 36,586,766 27,416,228 9,170,538
= 12,230,473
S 12,170,576
Al 12,185,717
SM, AMAE L&A XA 2,018,234 2,063,234 A 45,000




SN AFP FOMEIAD

HHM: HFRIE XJ

Sl AR0ES (25 & @)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 et A= 1,892,000 1,992,000 A 100,000
01 Al E & A 46 2 1,892,000 1,992,000 A 100,000

OAMOL 014 OlSYZ2Y
100,000 *1,200H ~12& 1,440,000
OUXYE JIE sMEH2 452 ,000,000& 452,000
307 QI2t0| & 126,234 71,234 55,000
06 282 126,234 71,234 55,000
OdY OHXE AtE OHAIEE D]
126,234,000 126,234

MASES AME Helold gst=dl2 20,000 20,000 0
307 QI2t0| & 20,000 20,000 0
05 QIZtRES 20,000 20,000 0

OMASE XH eold gs=dH2 A&
100, 000& 200X 20,000
BEKNANY BEXNR 13,879 21,000 AT, 121
= 5,253
= 2,626
Al 6,000
301 et A= 13,879 21,000 AT, 121
= 5,253
= 2,626
Al 6,000
10 HALAHI 2 A2 13,879 21,000 AT, 121
OBL1SH (22 ¥ 5Z2WE) 13,879,000 13,879
= 5,253
o 2,626
Al 6,000

WA SelZ= M| 420,000 420,000 0]
307 2I2t0| ™ 420,000 420,000 0
10 MM ESXEX 420,000 420,000 0

OBSAE DA =25 M|
50,000& 700 x12& 420,000
OI2tN2I0lE BEsAF HRIHAH XS 2,165,011 1,500,000 665,011
= 433,002
Al 1,732,009
307 QI2t0| ™ 2,165,011 1,500,000 665,011
= 433,002
Al 1,732,009
10 Al S X2 X 2,165,011 1,500,000 665,011
Ot el old E=xndI HRIHLH]
2,165,011,000& 2,165,011
= 433,002
Al 1,732,009
ZIOHOF, YOotE BEEWNARA E4£224H 202,953 164,400 38,553
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< 60,886
Al 142,067
307 glz2+ol & 202,953 164,400 38,553
< 60,886
Al 142,067
10 A3l S X2 = 202,953 164,400 38,553
Odote WAt E224 190,953,000& 190,953
< 57,286
Al 133,667
OZOHOLE WAL E+=22E 12,000, 000& 12,000
< 3,600
Al 8,400
el 0ld Yetehdl 201,250 166,950 34,300
307 glz2tol & 201,250 166,950 34,300
05 RIZtE = 201,250 166,950 34,300
OZZ 6178 0l 250,000 200 A +7 & 35,000
O&FA 318 0ol4 200,000 4900 2 78 68,600
O&& 309 O0Iat 150,000 x93 A +7 & 97,650
el ol& Ots 2taldl 919,500 720,000 199,500
307 glz2+ol & 919,500 720,000 199,500
05 RIZt2IE = 919,500 720,000 199,500
O0gold Ots 2HAlH]
12,5003 *6, 130K 123 919,500
Helold wiHw7Hl X 78,264 112,000 A 33,736
= 32,009
< 16,005
Al 30,250
307 glz2+ol & 78,264 112,000 A 33,736
= 32,009
< 16,005
Al 30,250
10 A3l =X 2 = 78,264 112,000 A 33,736
Odglold RM-dl X3 78,264,000& 78,264
= 32,009
< 16,005
Al 30,250
OlEols tMe e ol X3 58,875 20,000 38,875
< 17,663
Al 41,212
307 21201 A 58,875 20,000 38,875
< 17,663
Al 41,212
10 A2l =S X2 X 58,875 20,000 38,875
OO0l tHHelsd oAl 58,875,000& 58,875
< 17,663
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Mm: 880lE X
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S - FE BRI (B) - NRAY - BES il HlnE2
Al 41,212
AMZAEE oy 2 XA 30,485 44,837 A 14,352
< 9,145
Al 21,340
307 glz2tol & 30,485 44,837 A 14,352
< 9,145
Al 21,340
10 AtSI =X 2 X 30,485 44,837 A 14,352
OAZAZE Helold 2EX& 30,485,000 30,485
= 9,145
Al 21,340
Mo ESHE 29 33,264 15,280 17,984
< 9,979
Al 23,285
307 21201 A 33,264 15,280 17,984
< 9,979
Al 23,285
10 A3l S X2 = 33,264 15,280 17,984
OZAHOoL 28 Helold X& 33,264,000& 33,264
< 9,979
Al 23,285
I ROLE=F 2L 5,000 5,000 0
201 Let249] 5,000 5,000 0
01 At 22l 3,000 3,000 0
OEs2gad LE2dH| 2,000,000& 2,000
OESNAI d2us HASH
1,000,000& 1 1,000
03 A2 Z Hl 2,000 2,000 0
odg=s OUEst 18 s 2,000,000 2,000
oo 29 X 292,800 290,800 2,000
307 21201 A 292,800 290,800 2,000
10 A2l =S X2 X 292,800 290,800 2,000
OESEnI 25+ 166,800, 000& 166,800
O0gold 2LHIX&A 126,000
—8& 212014 Al- 1,000, 000& *90H 4 90,000
— & 2021015+ Al 500,000 7201 2 36,000
HENASOlS MHHUESEZ N2 56,614 100,000 A 43,386
< 16,984
Al 39,630
301 L2 A S 56,614 100,000 A 43,386
< 16,984
Al 39,630
01 MEIBEE 253 56,614 100,000 A 43,386
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28,930

8,679
20,251

35,400

AN6,470
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= H A

108,000

108,000
48,384
10,800
48,816

104,400

3,600

AEFHOIS = SSHMHA 2

toi

= N

22,200

12,000
10,200

22,200

307 glztol &

=

22,200

12,000
10,200

22,200

22,200

22,200




FMN: =3P FQUMSIA N
Ha: 2RI X8
gl Ots=EX X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNHZMOls ZU=: SsSAEA 23t 20,400
— QI 1,500,000& x1H «12& 18,000
< 9,000
Al 9,000
— 23| 200,000 100 & +12& 2,400
= 1,200
Al 1,200
OXMHSEEHH E+=2RE 1,800, 000& 1,800
< 1,800
ZA0ts 24 X& 3,514,614 3,864,914 A 350,300
= 446,018
< 1,922,439
Al 1,146,157
301 et d = 3,514,614 3,864,914 A 350,300
= 446,018
< 1,922,439
Al 1,146,157
01 MEIBEZE+05l= 3,514,614 3,864,914 A 350,300
OZAOISZA(E, 2, 282)X
583,200, 000& 583,200
< 583,200
OZAISSA(BY, Y8E)X
2,122,900,000& 2,122,900
2 446,018
< 530,725
Al 1,146,157
OZAOISSA(BY ¥atE U SN
808,514,000& 808,514
< 808,514
NASEE Ols2S 8 §H W3RN 62,400 65,800 A 3,400
< 18,720
Al 43,680
301 et d = 62,400 65,800 A 3,400
< 18,720
Al 43,680
10 ALAHIE A3 62,400 65,800 A 3,400
Ost&E=2R0I1(FH) =8l XI=  62,400,000& 62,400
< 18,720
Al 43,680
OtSEXAIE HA="a X2 151,800 145,200 6,600
307 21201 A 151,800 145,200 6,600
10 A3l S X2 = 151,800 145,200 6,600
OXGotsdH HAtelE o124 EX
550,000 2300 2 =128 151,800
ANE0ts ey detetdl X3 13,280 0 13,280
307 glz2+ol & 13,280 0 13,280
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Al 490,431

MAS B892 (422, 438N (HESHHS) 137,643

= 68,822

Al 68,821
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Al 68,821

01 ABI 2= 4523 137,643
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= 68,580

Al 68,580
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Al 241

MAS 822 JI5(A2Y 428N (SSHE 468,000
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= 140,400

Al 327,600

301 et &2 468,000
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Al 327,600
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= 70,200

Al 163,800

OdlY M= 150, 0002 *300% *23| 90,000

= 27,000

Al 63,000

OME 2| 60,0002 * 1,200 4| Ch x23l 144,000

= 43,200

Al 100,800

MAS 822 JI5(422,428) N 45,000

301 Lete &2 45,000
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- Sy 50,0002 *100% 5,000
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OZY e 40,0002 *380% 15,200

HAWE 92 PN 36,500
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SN AFT FUNENADY
Hu: Lol =X =7
S HAS LoHSME HFNH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
10 A3l S X2 = 54,180 54,360 A 180
OMAS THIHE= QL ALAHHH E Ul
3,000 x60H 301 54,180
& 8,154
< 9,947
Al 36,079
fEZZAY 2UHE XA 74,400 76,800 A 2,400
307 glz2+ol & 74,400 76,800 A 2,400
10 A3l = X2 X 74,400 76,800 A2,400
OFAMAZH & 2323 2,200,000& 123 26,400
ORzsAE=20 &5l
400,000 *100H 212 48,000
ColAB A 5,000 5,000 0
& 1,700
Al 3,300
301 et A= 5,000 5,000 0
& 1,700
Al 3,300
01 MEIBEE 263 5,000 5,000 0
OAZac =X 100,000& »50H 5,000
& 1,700
Al 3,300
F2AGE FHALR QA 139,200 127,200 12,000
< 27,300
Al 111,900
307 21201 A 139,200 127,200 12,000
< 27,300
Al 111,900
10 AtEI =S X2 X 139,200 127,200 12,000
OZZAY LA 22|
1,000,000& 600 A+ 123 72,000
< 13,650
Al 58,350
OZ=2Ag XZelAb eyl
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< 13,650
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220U ¥ A FHES = 406,680 362,880 43,800
=2 10,080
< 12,487
Al 384,113
= SN 163,800 122,400 41,400
301 et A= 163,800 122,400 41,400
01 Ml28E 6= 163,800 122,400 41,400
OF¥==% X2 30,0003 455 123 163,800




2N
X ZH -
L= B

el

CH

Jo

= A

- FH .2 (3 )

CHRAY - BHAS

Off &t 24

=

i
2m

SOl A

= M [

145,440
10,080
1,745
133,615

145,440

= H M

145,440
10,080
1,745
133,615

145,440

200,000& x60H »12&

144.,000,000& =10/1,000

= H AL

145,440

144,000
10,080
1,745
132,175
1,440

145,440

H
re
ro
w
Kl
x
Ao
02

1,920

1,920

1,920

1,920

20,000 «1H »162/ «6 &

1,920
1,920

1,920

H

Al

93,600

10,742
82,858

91,200

2,400

307 21201 A

H

Al

93,600

10,742
82,858

91,200

2,400

10 AFBISXIEX

OZ2Y At S At

St

100,000 #7890 A 1204 =

H

Al

93,600

93,600
10,742
82,858

91,200

2,400

ATk

a ITANEX S4

eSS

1,920

1,920

1,920

1,920

20,000 83|« 128

1,920
1,920

1,920

= H AL W

1,444,000
41,800
56,957
27,858

1,317,385

1,333,448

110,552

d2E 244 XA

= H AL W

422,508

41,800
45,757
26,358
308,593

336,448

86,060

307 glztol &

W

422,508
41,800

336,448

86,060




SN AFP FOMEIAD
HH: Lol =X =X
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SA BB (SH) - NRAY - B Ol At o gﬁ‘&i HRE2
= 45 757
< 26,358
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10 Al S X2 X 422,508 336,448 86,060
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= 45,757
= 20,088
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O3z s&I| 4yl XN 57,000,000& 57,000
= 28,500
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Al 24,225
OoZzd =24 XA 50,000 761 2~ +7& 26,600
= 13,300
= 1,995
Al 11,305
d2E SEMAAY 334,742 215,500 119,242
201 gBt2Ad| 94,742 55,500 39,242
01 AP 2t 2| H| 94,742 55,500 39,242
O3 %I KXE2Hl| 20,000& ~28CH x12& 6,720
O&F LD deE 43,7003 63CH x12& 33,038
OANES X 22 E=H| 300,000 x78JH A~ 23,400
Ot M= 15,000 * 1001 A %23 300
OKlE3E H2E3=Y gt
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—JIE4 80,000 x2H x12& 1,920
—N2aRLY
7,730 *1.58 *30A| 2+ +2&H x 122 8,349
~s2224g
7,730 x1 .58 *8A| 2t*x2 %203 x 12 4,453
— XS 7,730 *8A| 2t*x2H 15 1,856
—AMEE 2 61,716,0009 x38/1,000 2,346
JlEddl 72,240 63,640 8,600
Jl2 &34l 72,240 63,640 8,600
201 LBt 37,440 37,440 0
01 AP 22| H| 37,440 37,440 0
OBAd29H| 60,000 23 x12& 16,560
O2AI|YXE 130,000 x12& 1,560
OJls2&dl 70,000 23 x12& 19,320
202 044 30,600 21,600 9,000
01 2Ll 30,600 21,600 9,000
OJI2g =80l 150,000& x 172 x12& 30,600
203 ¥ 2 =&H| 4,200 4,200 0
04 FEASHEYIFFEH| 4,200 4,200 0
OEMSIELEF=8H| 350,000 x12& 4,200




N = 0 &8 AFH Y & A AN
2AM: MEIS
HM: MNE1s FUXNXHEEH 29
¢ FUXXME &85t CEERED)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
MEIS 401,346 442,511 AN41,165
MEIS FOUNILMEH 29 329,185 372,720 N 43,535
FOXXAE 435 255,335 257,060 N1,725
FOXXMEHESH 145,895 145,270 625
201 LEt2 Y| 29,720 23,800 5,920
01 AR 22| I 19,720 13,800 5,920
OFoUXXHEH 23H| 400,000 x12& 4,800
OFUNXSA 3o &ML
30,000& *25H x12& 9,000
OFUXNXHEEH BEHRA AZTEAN 5,920
—REIZZNAN Z20H 143,000& *169H 2,288
— QA T2 227 ,000& =164 3,632
03 S AF2 H H 10,000 10,000 0
OFUXXHEH &5 HEJF 3,000,000& 3,000
OFUXNXHEEH s - As L HAEMYEEZZ
s 249 7,000,000& 7,000
203 &R =&H| 600 600 0
03 A=A R =AH| 600 600 0
OANEANH &5 =X 600,000& 600
301 dEtE A Z 112,040 113,120 A 1,080
10 HALAIHI B A2 112,040 113,120 A 1,080
OFQUXXHE XSS AHA AH 24
20,000& *400H x12& 96,000
OFUXXHE AlE82el XN ESAX A2 a 16,040
-5y 20,000& *39 250 15,000
—F 20,0003 *1H x52! 1,040
405 XtabF SHI 3,535 7,750 N4 215
01 AL 2B F SHI 3,535 7,750 N4, 215
OFURXNHAEH ZHELL2(AF)
100, 000& = 1CH 100
OFUXNXHEH HB0HAZEI(AF)
40,000& =2CH 80
OFQUXXME =D L3 (AR) 3,355
— &g 495,000& *5H 2,475
— A4 & 440,000& *2JH 880
AAR Hel2Y 20,950 23,300 AN 2,350
201 LEt2 A Y| 20,400 20,400 0
01 At 22l Yl 9,600 9,600 0
OQIAHXMALRLFX £=FH| 800,000& x12& 9,600
02 =294l 10,800 10,800 0
OZ2Z222 LA 10,800




2M: MEIS
HE: ME1S FOANKME 29
u] A

o©e: FOUXXAE 43t CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—ZUEOES SERS 700,000& 128 8,400
—JItt RER= 200,000& 128 2,400
405 XHoHF S HI 550 2,900 A 2,350
01 et EZFH S 550 2,900 A 2,350
OG&EBI (&) 550,000 1CH 550
=83 233 81,490 81,490 0
301 et a = 81,490 81,490 0
0b&-2l-EEas2aa 81,490 81,490 0
os& 75,440
-4 200,000 *23H «143] 64,400
— 2L 20,0003 «23H «23| x 122 11,040
Otttz =g 25,0003 121 *23| 6,050
MWRe == eS| 7,000 7,000 0
301 et d = 7,000 7,000 0
10 AtAHIEAZ 7,000 7,000 0
OMRe =232US) HEx O S4Hl
7,000 «50H «23| 102 7,000
s FA2d 73,850 90,660 A 16,810
FA2E 3 44,860 49,660 A4,800
201 Let24d] 44,860 49,660 A 4,800
02 =24l 44,860 48,360 A 3,500
O=323<HA 13,200
—&NIIe3 800,000 122 9,600
— 4ot R3 200,000& = 12& 2,400
—Jigt 3323 & HMA 100,000& 128 1,200
O =zl 9,000
—SAIIARZ 750,000 128 9,000
OA&ZEHl s Xl 14,160
— A Xl 500,000& =128 6,000
— Rodl == 180,000 »12& 2,160
— E A gatz2teltl 150,000& =128 1,800
— JIEt Al EHI =Xl 350,000& 128 4,200
O Xt 7,300
— sl 300,000 »12& 3,600
- EEE= 2,500,000 2,500
— Ol EXt= X bl 100,000& »12& 1,200
OFAI2Y LEt==EH| 100,000 128 1,200
FAEE A 28,990 41,000 A 12,010
401 AIEHI L 2CHYI 21,700 41,000 219,300




2AM: MEIS
M MBS FOANKME 2
ool s BARY (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 A& HI 21,700 41,000 A 19,300
OSEAN 15 8HH E3 A 21,700,000 14! 21,700
405 XtabF S| 7,290 0 7,290
01 A&t =S F SHI 7,290 0 7,290
O=SEA 2ot2 Jtlet (s R?)
1,215,000& *6CH 7,290
HHE2HAAL (WEIS) 72,161 69,791 2,370
ol 2AY| 29,251 25,271 3,980
ol 2HH| 29,251 25,271 3,980
101 @121l 29,251 25,271 3,980
03 I HLsZ22 NHE 29,251 25,271 3,980
OsFoUHH HArZE A 29,251
—-JI=23 1,686,860& x12& 20,243
— HHZ A 90,000& x12& 1,080
— @ E F I 1,686,860& *100% 1,687
L ECELE
7,890 1. 58 x15A] 2t x12& 2,131
~-guaesy
7,890 x1 . 5H *8A| 2+ *x2 x12& 2,273
— X E 7,890& *8A| 2t%20! 1,263
—AMTHEEZ 28,677,000& *x20/1,000 574
DIR= sl 42,910 44,520 A 1,610
Jl&l 42,910 44,520 A 1,610
201 LEt2 Y| 16,200 18,360 N2,160
01 AP 2t2l bl 16,200 18,360 AN2,160
SA29HI 80,0003 x9H x12& 8,640
OPIE==2=1:| 70,0003 «9H =128 7,560
202 04| 16,200 16,200 0
02 EHN Y| 16,200 16,200 0
O& A0 I 150, 0003 *9H 123 16,200
203 g R =&H| 9,960 9,960 0
01 J|22HLRF=AH| 6,600 6,600 0
OJ|22dgR =AY 550,000& x12& 6,600
02 RIS R = XIH]| 360 360 0
SEEBI-EES 40,0002 9% 360
04 EANSHLRF=AH| 3,000 3,000 0
ORANEELERFAH| 250,000& x12& 3,000
405 XH&HF S HI 550 0 550
01 AL =2 EF SHI 550 0 550
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N = 0l & At & Ml A

SM: MBS
M ME28 FUNXME 23
el FOUNXIME 2435t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MNE2S 477,712 473,967 3,745
ME25 FLOUXXHEH 22 390,228 394,640 A4, 412
FOUXXIME 4835t 302,628 288,440 14,188
FURMXAEH 29 129,938 114,170 15,768
201 Let24dy] 28,000 28,000 0
01 At 2teltl 18,000 18,000 0
OFQUTXEEH =ZU2E HUHE R
750,000& *43] 3,000
OFQNXAR 50 B2y
0,000& 25 122 9,000
OFLUXXEE 224l 500,000 = 12& 6,000
03 A2 Z Hl 10,000 10,000 0
OFUXXHH HBSLESI 3,000,000& 3,000
OFQUNXHH ws - A8 & FAEMSEEZ
08 23 7,000,000& 7,000
203 YR =&t 600 600 0
03 A FXH S Z= XY 600 600 0
OAMZAM &5 =& 600,000 600
301 gt L= 100,040 84,720 15,320
10 dAAHIEAZS 100,040 84,720 15,320
OFQTXIMEH THASAMI AU 24
20,0003 +350H 123 84,000
OFUXXHEH AlZ2te] NHASAHA A2 4 16,040
—gg 20,0003 x3H +250 15,000
- =2 20,000 «1H x522 1,040
405 RHoHF S HI 1,298 850 448
01 AL EZFH S 1,298 850 448
OFQTXIHH ettAa &I 1,298
— A (HA) 495,000& »2H 990
—0lsSAE(AR) 154,000& »2CH 308
QIAYR Mel=2d 30,800 32,380 A 1,580
201 L2l 29,600 29,600 0
01 At 22l 12,000 12,000 0
OAHFIHERF=N =ZH| 1,000,000& 122 12,000
02 =224l 17,600 17,600 0
02323 % HAl 17,600
—ZUEOSES SERS 800,000& »12& 9,600
—JItt RER= 250,000 = 12& 3,000
—QALSHE YL PHESLS
50& *20,000H 5,000




2A: ME2E
HE: 225 FOUNKME 2
chol: FOIXIXIME BA S CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
405 XHAHFIEHI 1,200 2,780 A 1,580
01 XAt 2 E F S| 1,200 2,780 A 1,580
O4ct3t IHHIS (CHAN) 300,000 «4LH 1,200
s, 8E 23513 134,890 134,890 0
301 et A= 134,890 134,890 0
0bsS-c2-EtEEsEM2 134,890 134,890 0
Oos&® 124,640
— =g 200,000 *38H x143| 106,400
— 3o FEH LG 20,0003 x38H x23| x12& 18,240
OBt 4 25,000 x205H *23| 10,250
MRE 222 =D 7,000 7,000 0
301 LBt A= 7,000 7,000 0
10 HAFAHI B a2 7,000 7,000 0
OMRBBSUNESI HELABOK Sl
7,000 x50 *x23| x 10 7,000
s FAN2HE 87,600 81,200 6,400
HAI2E E | 87,600 81,200 6,400
201 et H9d| 87,600 79,700 7,900
02 2324 H| 87,600 79,700 7,900
OZ2222 ¥ HA 25,800
—&IRe3 1,400,000& x12& 16,800
— Mol ER2 150,000 »12& 1,800
—JIEt 2222 ¢ HA 600,000 x12& 7,200
O 24| 18,000
— CAIIAR S 1,500,000 x12& 18,000
OAl& ZHl KX Y| 36,600
— E AR X8I 1,000,000 x12& 12,000
— 20lAH| =2 200,000 x12& 2,400
— At 2t el bl 200,000 x12& 2,400
— SIS X 22l 200,000 =2t x12& 4,800
— JIE A2 &HIK X 1,000,000 x12& 12,000
— LB HH2EA =, SA2eld]
3,000,000& 14l 3,000
OXts Xl 300,000 x12& 3,600
OFANSY LBt=24| 300,000 x12& 3,600
HHSAHY (ME2S) 87,484 79,327 8,157
olea 2HH| 32,706 24,347 8,359
ol 32,706 24,347 8,359
101 e1214| 32,706 24,347 8,359




2A: ME2E
HM: H¥2HAH| (AE2S)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 RIAHLZ2ZZ2XE S 32,706 24,347 8,359
OSF0ME HA22E 32,706
- J=2a2
(1,843,150« 112 )+(1,860,510 x1& ) 22,136
— HHZAH| 90,000 x12& 1,080
— @& S0 1,843, 150& x100% 1,844
—tsag 40,0008 122 480
S E L LR
(8,580 x112 48,6602 18 )*1 .58 x15A| 2+ 2,319
~s2224g
(8,580 112 +8,660R » 12 )« 1.5 x8A| 2+ %2 2,473
ol
— X 8,660 *8A| 2Fx252! 1,732
—AMEE S 32,064,000& *20/1,000 642
23| 54,778 54,980 A 202
Jl2 &4l 54,778 54,980 N 202
201 YEtS | 21,600 21,600 0
01 AP 2t 2] H| 21,600 21,600 0
OFAM849| 80,000& x12% x12& 11,520
OJls2&| 70,000 x 128 x12& 10,080
202 044 21,600 21,600 0
02 EHNHI 21,600 21,600 0
OEHAHYI 150,000& x 122 x12& 21,600
203 AR Z= Yl 11,380 11,380 0
01 JI22HE Y FFEH| 7,900 7,900 0
OJ|22g9ge2x=x 7,900,000& 7,900
02 BRI YR2FAH| 480 480 0
OFIINMH 2 =X 40,000& 124 480
04 FEASHELIFFEH| 3,000 3,000 0
OEMNSIgELEF=8H| 250,000 x12& 3,000
405 XtAHE S| 198 400 A202
01 AL 2 E F S| 198 400 N 202
O3SHHHII(ELRE,07) 198,000 ~1CH 198




N = 0l & At & Ml A

SN UE3S
M AE3S FONIME 29
chol: FOIXIXIME BA S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AE3S 406,661 404,890 1,771
AE3s FLUXXMEH 22 328,572 334,692 26,120
FOUXXIME 4835t 216,930 224,110 AT7,180
FURMXAEH 29 133,940 141,120 A7,180
201 Let24dy] 23,800 23,800 0
01 At 2teltl 13,800 13,800 0
OFLUXXHEH 224l 400,000& x12& 4,800
OFURKAASE 50 HH+g
30,0003 *25H x12& 9,000
03 A2 Z Hl 10,000 10,000 0
OFQURXIHEH ZHSHA 3,000,000 3,000
OFQUTXHH ws - A8 & FAEMEEZ
08 23 7,000,000& 7,000
203 YR =&t 600 600 0
03 A FAH S Z=AY| 600 600 0
OAMZAH &s=2 600,000 600
301 gt d= 106,240 106,320 A 80
10 AtAHIE A2 106,240 106,320 A80
OFQTXIMEH THASAMI AU 24
20,0003 +380H 123 91,200
OFUXXHEH A2 X3S AR AH S & 15,040
— &g 20,0003 x2H 250 10,000
—EU(=A02FMI) 20,0008 *1H 200 4,000
- =g 20,0003 «1H 52 1,040
405 THobF S| 3,300 5,400 A2,100
01 AL EFH S 300 400 A 100
O2EII (&) 300,000& =174 300
02 =M=l 3,000 5,000 A2,000
O MBI (&) 3,000,000& 3,000
QIAYRXHe =29 19,200 19,200 0
201 Let2d] 19,200 19,200 0
01 At 22l 8,400 8,400 0
OLAHZFYRF=A =ZH| 700,000 128 8,400
02 =224l 10,800 10,800 0
OZUE 01ERER23 700,000& 128 8,400
OJIEt 2ER3 200,000& 128 2,400
s.0E 83X 56,230 56,230 0
301 et A3z 56,230 56,230 0
058-cl-EsE43 56,230 56,230 0




2AMN: ME3S
H: MNEZS FULXHLMEH 29
Crel: FOIXIXIME 243 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
oOs&s4Y 52,480
— =g 200,000 x16H *143] 44,800
— 3o &AM L 20,000 16 »23| x 128 7,680
Obt&E ¢ 25,0003 x75Y 23| 3,750
MRt =52 US| 7,560 7,560 0
301 Bt A= 7,560 7,560 0
10 HALAHI B A2 7,560 7,560 0
ONRe=2s2LHSI| WA EOHA S4AH
7,000 *45Y *x23| x12& 7,560
s HAM2Y 111,642 85,582 26,060
HAMSHZ I 90,842 85,582 5,260
201 Bt A H| 90,842 85,582 5,260
02 332494l 90,842 85,582 5,260
03322 % MA 44,400
—MIR22 3,000,000 x12& 36,000
— Aol ER22 400,000 x12& 4,800
—JIEt 3322 % HA 300,000& x12& 3,600
OHZHl 8,400
—SAIIAR S 700,000& x12& 8,400
OA& &Hl S XYl 27,842
— H AR Xl H| 500,000& x12& 6,000
— 20lddl &= 200,000& x12& 2,400
— & oA 22| 220,000& x12& 2,640
— 520 X222l 231,000& x12& 2,772
— A EorA 22| ] 165,000& x12& 1,980
— gy s 22yl 200,000 =20 x12& 4,800
— A EFHAH| 1,050,000& *13] 1,050
— Nt LSYIAF A
350, 000& 24 x23| 1,400
— J|EFAI & & H|I R Xl HI 400,000 x12& 4,800
Oxe s S| 5,400
—24SIE A 300,000& x12& 3,600
— 0lEXt |AlH] 100,000& *12& 1,200
— 242X L 0|EFXN EE= 600,000& 13 600
OFANE2YE dBtx=2H| 400,000& »12& 4,800
HALEHE O A 20,800 0 20,800
401 AIEHIL 20| 20,800 0 20,800
01 A& HI 20,800 0 20,800
OFAMNEYE A g 1,100,000& 14 1,100
OFAMU sSOIAA(2HA) 2201 & wH
19,700,000& 19,700




N E3S
#H 2 A (M E3S)
ol2i 2 oy

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
HY2F B (ME3S) 78,089 70,198 7,891
ol 23| 35,729 27,838 7,891
ol 2A| 35,729 27,838 7,891
101 @124l 35,729 27,838 7,891
03 RIHAZ 2T E+ 35,729 27,838 7,891
Os=QdH HA2el & 35,729
—Jlzs
(1,843,150& 72 )+(1,860,5102 *5& ) 22,205
— M Z A 90,000& »12& 1,080
— S = E|
(1,843, 150&+1,860,510& ) *50% 1,852
—AESHEZ+Y 448,000& 4= | 1,792
- &= 130,000& = 12& 1,560
LR
(8,580 72 18,660 53 )»1. 58 x 15A1 2+ 2,326
~su224g
(8,580 x72 18,6602 53 )*1. 581 xBAl 2H+2 2,481
Ql
—oxag 8,660& *8Al 2t+252 1,732
—dHEE S 35,028,000% *20/1,000 701
| =2 42,360 42,360 0
Jl2Z34 42,360 42,360 0
201 YEre Al 16,200 16,200 0
01 At 2teltl 16,200 16,200 0
ORM2gHI 80,000 «9H «12& 8,640
OJlEs &l 70,0003 *9H x 128 7,560
202 044l 16,200 16,200 0
02 X 16,200 16,200 0
OEHo 150,000 x9&H x12& 16,200
203 YR =&l 9,960 9,960 0
01 1222 =4 6,600 6,600 0
OJI22g g2l 550,000& 128 6,600
02 It =& 360 360 0
OISR F= &Y 40,0003 94 360
04 FEN2ELRZ=LH| 3,000 3,000 0
ORN2IYS =2 250,000& 128 3,000




N = 0l & At & Ml A

2AM: HEB1S
N HEIS FUNXMUEH 29

¢ FUXXME &85t o M)
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
BHE1s 448,076 442,448 5,628
EBHg81s =AXME 29 358,490 374,405 A 15,915
FOUXXIME 4835t 266,150 274,565 28,415
FURMXAEH 29 155,720 151,050 4,670
201 Let24dy] 26,980 26,200 780
01 At 2teltl 16,980 16,200 780
OFLUXXEEH 2SI 600,000 »12& 7,200
OFURIIFANE S FH2Y
30,0003 *25H x12& 9,000
OuslLsAY D7 13,000 30 »23| 780
03 &AL Z I 10,000 10,000 0
OFCUXXEH &35 gH3 3,000,000& 3,000
OFTXEH i A8 & FAEMEEZZ]
H 2 7,000,000 7,000
203 YR =&l 600 600 0
03 Al F=XH R =AH| 600 600 0
OAMZBAH#HZZ 600,000 600
301 L2 A Z 117,040 116, 160 880
10 #ALAHIE A3 117,040 116, 160 880
OFUXXIEE XESAX AH 24
20,0003 x400H 123 96,000
OFUXXIHEH Ald2e] NHASAX AL 4 21,040
— &g 20,0003 x4 250 20,000
- =g 20,0003 «1H 52 1,040
405 THobF S| 11,100 8,090 3,010
01 AL EFH S 11,100 8,090 3,010
OE U (&) 1,000,000& = 1CH 1,000
O#ASEHA(HAH) 400,000 =24 800
O#AME HOlA EXH(AR) 100, 000& 204 2,000
OATIEA (&) 1,200,000& = 1CH 1,200
OFAII(CHA 500,000 = 1CH 500
OAME=0l A=(HA) 100,000& 20 2,000
Onmz A HEZSII(&+) 100,000& =6CH 600
O2MUH (&) 300,000& = 1CH 300
O=Zele () 700,000 = 1CH 700
OUAAA HIXE ANSELII (&)
2,000, 000% *1CH 2,000
QIAYRXHe =29 21,600 21,600 0
201 Let2d] 21,600 21,600 0
01 At 22l 9,600 9,600 0




2AM: HEB1S
N HEIS FUNXMUEH 29

¢ FUXXME &85t CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OdE PE=AU=EH| 800,000& »12& 9,600
02 =24l 12,000 12,000 0
Ol 018 & RERS
1,000,000& =122 12,000
s.2E 83X 75,030 75,030 0
301 e A= 75,030 75,030 0
058-2l-EasE43 75,030 75,030 0
os&d=¢ 200,000& *21H x143| 58,800
Os&slo &A= 20,0002 x21H*23|«12& 10,080
Ogtd ¢ 25,0003 x123H »23| 6,150
MWRE =252 eS| 7,000 7,000 0
301 LB A F 7,000 7,000 0
10 #AAHIEAZ 7,000 7,000 0
OMRet==2Z24S) HEx FHT 4 W3
7,000& «50H «23| 102 7,000
N2 ZE20 29 6,800 19,885 213,085
201 Let24E] 1,800 1,800 0
01 At 2teltl 1,800 1,800 0
OZ2g=210 23l 150,000& 128 1,800
405 XHoHF S HI 5,000 5,000 0
02 =M=l 5,000 5,000 0
oM 7¢ 2,500,000& x23| 5,000
s N2 92,340 74,840 17,500
A2 3 69,840 65,840 4,000
201 Let24] 69,840 65,840 4,000
01 At 2t 2l 1,500 0 1,500
OFLURXIME HAIE R S 2UHT WX
500,000 *30H 2 1,500
02 =224l 68,340 65,840 2,500
03323 %2 HA 45,100
—dIIReRa 1,800,000 »12& 21,600
— &Gt 150,000& 128 1,800
—SAIARZE 1,500,000& =122 18,000
—Jitt 2323 & HMA 100,000& 128 1,200
—24EXE ¥ OIEUNEER 2,500,000 2,500
OA&EHl sl 17,240
—2Z3E Fa 85,000& = 12Xt 1,020
—EA 2 AEE RR2e 2,000,000& 2,000
— Mak2e] =&l 400,000 x12& 4,800
— 2otz 138,000& 128 1,656




2AM: HEB1S
N HEIS UK

m
M0
02

e S FA2YE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
—do|jotd e xS 132,000& x12& 1,584
— 520 X224 165,000 »12& 1,980
— AU EAH 42 150,000 x12& 1,800
— FOIXXIAE AlAEH =&
200,000 x12& 2,400
oz=xeg 2 0lEFX |Ad 500,000 x12& 6,000
HALEZE & 22,500 9,000 13,500
401 Al HIZL 2 0HY| 22,500 9,000 13,500
01 Al&H| 22,500 9,000 13,500
OFAF 28 & giegsE A 6,000,000 » 14! 6,000
OFAF QI ALH CCTVA X 12,000,000 14l 12,000
OFoXXHEEH HE &Kl 4,500,000 14! 4,500
HELSAAH (EHE1S) 89,586 68,043 21,543
olet 2 | 47,226 25,683 21,543
ol ALY 47,226 25,683 21,543
101 124 H] 47,226 25,683 21,543
03 RIHEZZXHE = 47,226 25,683 21,543
OsF=04dEH HA22 S 25,160
—-Jl23 1,478,4703 x12& 17,742
— HHZAH| 90,000 ~12& 1,080
— HAE S| 1,478,4702 *100% 1,479
—JIEx=¢ 40,000 x12& 480
—ANZ2A2LE2LE
6,960 x1. 58 x15A| 2Hx12& 1,880
—542244
6,960 *1.5H *8A| 2t*x2L x 12& 2,005
—MHEE S 24 ,666,000% x20/1,000 494
O&2 42 22 22,066
A=)
(1,466,730 «112 )+(1,484,090 x1& ) 17,619
— HHZAH| 90,000 x12& 1,080
— HE 50| 1,466,730& x100% 1,467
—JIExE 40,000& x12& 480
—ANZ2AZ 2
(6,900 x112+6,980 18 )1 .58 * 10A| 2+ 1,244
— MBS =2 21,890,000 %8/1,000 176
JlE&d| 42,360 42,360 0
o2 Fl 42,360 42,360 0
201 gBt24A | 16,200 16,200 0
01 AP 22| H| 16,200 16,200 0




2AM: HEIS
B HE2AAY (HEIS)
chelr D123l
M- B8-S (3H) - HRAY - BES il
O A2gH| 80,000& «9H x12& 8,640
OJles gl 70,0003 «9H «12& 7,560
202 O4dl 16,200 16,200
02 M0 16,200 16,200
O HOHI 150,000 x9H «12& 16,200
203 YR =2l 9,960 9,960
01 JI122H =AY 6,600 6,600
OJ|22d =&t 550,000& 12& 6,600
02 A& H 2= 360 360
OF AL S =AY 40,0003 94 360
04 FN2EHSZAH 3,000 3,000
ORAN2EIRFEHI 250,000 128 3,000




N = 0l & At & Ml A

2AM: EHE2S
I ftHE2S FULNXMUEH 29

& FUXXLE Ed35

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
EHgos 405,910 418,635 N12,725
EHE2S FOUXNXHEH &9 330,670 347,010 AN 16,340
FOXXAE 435 261,250 260, 150 1,100
FOIXNXMEH 29 148,240 148,600 A 360
201 LEt2 Y| 26,600 26,600 0
01 AR 22| I 16,600 16,600 0
OFoUXXHEH 23H| 500,000& x12& 6,000
OFUNXSA 3o &ML
30,000& *25H x12& 9,000
OFQUXXIME SMIE ZAZ
400,000& *43] 1,600
03 HALS H I 10,000 10,000 0
OF0XXHEH &3 SHHE3 3,000,000& 3,000
OFUNXHEH 1E - 2 HAEMEEZZ
0y 29 7,000,000& 7,000
203 € R =&lY| 600 600 0
03 Al =X H R =X Y| 600 600 0
OAEANM F=RES 600,000& 600
301 et A= 115,640 115,200 440
10 AL HI B A2 115,640 115,200 440
OFUXXHE XS AL &Y 24
20,000& *415H «12& 99,600
OFAUXXHE AlE82tel NI EAA A2 A 16,040
-85 20,0003 *39 250 15,000
— =g 20,0003 »1H x52L 1,040
405 XH&HF SHI 5,400 6,200 A 800
01 JtMY = ZF SHI 5,400 3,200 2,200
OFoUXXHEH 23 5,400
—EZE2nA 2(48R) 150, 000& *3H 450
—ES A el (A 100, 000& *x2H 200
—E2wA H(AR) 250,000& =1 H 250
— S0 (AR) 1,300,000& = 1CH 1,300
—HOIEE AE(AMFR 170,000& *109H 1,700
—SAZ HWE OFAFXIDI(CHAN)
500, 000& *1JH 500
— 4= gHla H&ED ) 500,000& = 1CH 500
— A (&) 500, 000& 1 CH 500
RAHEX 29 21,260 19,800 1,460
201 LEt2 Y| 20,760 19,800 960
01 AFR2t2l bl 11,760 10,800 960
OQIAHHARLFX % 900,000& x12& 10,800
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2AM: EHE2S
I ftHE2S FULNXMUEH 29

@ s FA2E (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—SANIARZE 1,100,000& 122 13,200
OA&EHl s Xl 13,020
—RoZtl==2 170,000& =123 2,040
— E A gat2teltl 110,000& =128 1,320
—5ZJ |2 180,000& =123 2,160
— 3 AM HEE A 1,500,000& 14 1,500
— AL 2 AIZZEH |XHl 500,000&«12& 6,000
O Xttt 6,000
— g =Xl 300,000& 128 3,600
— O0IEX S Xl 50,000& »12& 600
- 2 0EX BE82 1,800,000& 1,800
OFEAI2Y Let=EH| 350,000& 128 4,200
401 AIEHI L 20 1,400 1,400 0
01 A& Bl 1,400 1,400 0
@)= 3=3-' I rsi:] 700, 000& *2CH 1,400
AN 10,000 8,600 1,400
401 A& H L 2Ol 10,000 8,600 1,400
01 A& HI 10,000 8,600 1,400
O&AMN 4732 E3A 5,000,000 1Al 5,000
O2ged & Ax WHMSBA 5,000,000& =14 5,000
HZSAAY (BHH2S) 75,240 71,625 3,615
el 2l 28,940 25,625 3,315
ol 2| 28,940 25,625 3,315
101 @124 dl 28,940 25,625 3,315
03 RIAHAZ2HE = 28,940 25,625 3,315
OsFUdEH HA2C& 28,940
—Jlz2s
(1,652, 130& =18 )+(1,669,490& 11& ) 20,017
— ZHZ A 90,000& 128 1,080
— 32 S0td| 1,669, 490& *100% 1,670
— ANt 2R
(7,730« 12 47,8102 112 )+ 1. 581 »15A1 2+ 2,107
—pYIRLy
(7,730« 124 +7,8102 « 112 )+ 1,58 *BA| 2F *2 2,248
ol
Bl PN RSy 7,810 *8BAl 2+ %20 1,250
—MHEE = 28,372,000% *20/1,000 568
Jl2Z3l 46,300 46,000 300
o123l 46,300 46,000 300
201 Let24E] 18,000 18,000 0




2M: HE2S
Ha: #H2AA (HE2S)

¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

01 At 22l 18,000 18,000 0
ORA2gH| 80,000& 10 x12& 9,600
OJles gl 70,000 10 =128 8,400

202 o4dl 18,000 18,000 0

02 M0 18,000 18,000 0
O HOHI 150,000& x10H «12& 18,000

203 YR =& 10,000 10,000 0

01 JI22H =AY 6,600 6,600 0
OJI228 =4l 550,000& 12& 6,600

02 AP 2= 400 400 0
OBEAIMAREAY| 40,0002 102 400

04 EA2IYRFLH| 3,000 3,000 0
ORN2EYE =L 250,000 128 3,000

405 XHobF S HI 300 0 300

01 At ESFH S 300 0 300

OUIXIE Sthiet(al) 300, 000& 1K 300




= o
A & 0 & 2 & Al
CHEss
D EBE3s FUNXNLEH 29
D FOTRME 243 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EHE3s 547,739 620,915 AT3,176
H3s FUXNXMEH 2 437,190 455,956 A 18,766
FOUXXIME 4835t 300,570 321,536 A 20,966
FURMXAEH 29 182,970 194,350 211,380
201 Let24dy] 27,400 26,200 1,200
01 At 2teltl 17,400 16,200 1,200
OFLUXXHEH 224l 600,000 »12& 7,200
OFOIRASR 8l EHE+E
0,000 «25H « 128 9,000
OusUsAtE i F4
20,0003 x15H 42 | 1,200
03 A2 Z Hl 10,000 10,000 0
FUNXAEH AZLES 3,000,000& 3,000
OFUXXEH w7 - Ast & HAEHEEZZ
o8 24 7,000,000& 7,000
203 YR =&t 600 600 0
03 Al =X YR =& 600 600 0
OAMZEAH &s=2 600,000 600
301 gt L= 152,720 154,800 A 2,080
10 dAAHIEAZS 152,720 154,800 A2,080
OFQUXXIHE XJASAR AH 2a
20,0003 *540H 123 129,600
OFUXXHEH AlZ2te] NHASAHA A2 4 23,120
—gg 20,0003 *4H +250 20,000
— OF2H(E , =) 20,0003 x1H x104 2,080
- =g 20,0003 «1H 52 1,040
405 Xt&tE SHI 2,250 , 750 A 1,500
01 AL EFH S 2,250 , 750 A 1,500
ONOIEE AE(AR) 150,000& = 1574 2,250
QRAALEX 2 22,300 ,800 A 500
201 £B-2%H| 21,600 ,600 0
01 At 22/l 9,600 ,600 0
OHEE YRF=A=EH| 800,000& »12& 9,600
02 2324l 12,000 ,000 0
OF0ISE 2 AME=X 2BRES
1,000,000& =128 12,000
405 RHoHE S HI 700 ,200 A 500
01 AL EZFH S 700 ,200 A 500
OME&EBI (&) 700, 0003 = 1CH 700
s.0E 83X 76,300 ,300 4,000




D EHE3S
 EHE3s FOXXHEH 29
D FUXNXAE 245

A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 4,000 0 4,000
01 AtR 2t 2l Hl 4,000 0 4,000

OSg SE=SE HAI® LA 200,000 2004 4,000
301 LetEa= 72,300 72,300 0
06S-cl-tdas2ys 72,300 72,300 0
Oos&+¢ 200,000& »20H x143] 56,000
Os&zlo &g 20,0008 208 23|« 123 9,600
Oostd+¢ 25,0003 x134& »23| 6,700

WRe =252 A= 7,000 7,000 0
301 Lotz 7,000 7,000 0
10 AL 2o = 7,000 7,000 0

ONRet==22=)| HELX F0A 44|
7,000& x50 »23] »10& 7,000
M2 g2 29 12,000 25,086 213,086
201 LEr2 Y| 2,000 2,000 0
01 At 2t el b 2,000 2,000 0
OZg&1 29l 2,000,000& 2,000

405 At&tF = HI 10,000 10,000 0

02 =M=l 10,000 10,000 0
OX2Z N2 =AY 10,000,000& 10,000

s EM2dE 136,620 109,420 27,200

AMN2EEHI 136,620 109,420 27,200
201 fEt2E | 117,620 101,120 16,500
01 At 22l Hl 7,800 1,800 6,000

O&F=J| gxt&g 50,0002 =3CH*12& 1,800
OFs2cH & MH 3,000,000& 24 6,000
02 332gl 109,820 99,320 10,500
o3323 & MA 37,200
—&Jles 2,400,000& x12& 28,800
— 4ol R 400,000& 122 4,800
—JIEt 332 % HA 300,000& x12& 3,600
@)eN=3.] 27,600
—SANIARS 2,300,000 «12& 27,600
OAl £ &Hl s X H 38,720
— A= X8 500,000 =122 6,000
— RoZH === 250,000& »12& 3,000
—sZJIetd 2te| s X 200,000& »12& 2,400
— agotd el 150,000& =123 1,800
— dJletd el 160,000& »12& 1,920




M EHEIS

MM EHEH3IS F=UANXNALHAEH 2H
Sel S MY (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— HLHE )] R X 22| 110,000& x50 x12& 6,600
— WU HII1EE3 LA 900, 000& *5LH 4,500
— Mg x EA 1,000,000& «13] 1,000
— KXot AeX ¥ Sd3 HA
500,000 *23] 1,000
—3A 28 2 e E3A 3,000,000& 13| 3,000
— EAI &S A S 250,000 *63] 1,500
— JIEF A& &HI S Xt 500,000 x12& 6,000
Ox&x XYl 6,300
— 22X L 0|FX 22yl
400,000& ~12€ 4,800
— 22X & 0lEX BEE2 1,500,000 *13] 1,500
401 Al EHI L 204 HI 19,000 4,000 15,000
01 Al&H| 19,000 4,000 15,000
Os A 28 Y=ol A & AEIBA
4,000,000 x4l 4,000
OANHE 222 dZT DA Z2A
15,000,000 14l 15,000
THoH & RHLH o et 16,180 96,740 A 80,560
F X MACHzH 16,180 96,740 A 80,560
Bl =2 XA CHzH 16,180 96,740 A 80,560
201 et | 2,240 0 2,240
02 B232%H| 2,240 0 2,240
OA & Z&H SAX b 2,000
— OHAFH U A|AE ZrH| 2 2tH|
500,000& x23| 1,000
— AAE £=4HH| 1,000,000 = 14! 1,000
OdI 22 20,000 *12& 240
206 M = Hl 13,940 21,940 A 8,000
01 X2 4| 13,940 21,940 A 8,000
OF&tH HAL HAH 410,000 x34ke 13,940
HEM2AAH (EHEIS) 94,369 68,219 26,150
oA 2HH| 52,009 25,859 26,150
oled A | 52,009 25,859 26,150
101 e1214| 52,009 25,859 26,150
03 2IHAZ2ZXNHE = 52,009 25,859 26,150
OsF=0MdEH HAZ2SE 29,283
-Jl2a
(1,669,490 «9& )+(1,686,860& x3& ) 20,086
— HHZAH| 90,000 x12& 1,080
— H@AE S| 1,669,490 x100% 1,670




2AM: EBHE3S
M HH2ALH(HE3S)
crel: ol gyl
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
— &= 20,0002 128 240
—NeRRAY
(7,810 92 +7,890& »3& ) »1. 58 x 15 Al 2+ 2,115
- Y2y
(7,810 x92 +7,8902 »3& ) »1 . 5HH xBAl 2H+2 2,256
Ql
—Qxt=g 7,880& *BAl 2k+20 1,261
—dTHEE = 28,708,000& *20/ 1,000 575
O N2 2Held 22,726
—Jl=s
(1,466,730 2= )+(1,484,090& »10& ) 17,775
— W ZAH| 90,000& »12& 1,080
— o ® SO}y
(1,466,730& +1,484,090& ) *50% 1,476
—JE=E 80,000& »12& 960
SR EELE
(6,900 x2& 16,980 & »10& )+ 1.581 x10Al 2+ 1,254
—dTHEEZ 22,545,000& *8/1,000 181
JlE &l 42,360 42,360
JlE&l 42,360 42,360
201 £B-2dH| 16,200 16,200
01 At 2t 2l 16,200 16,200
FN2IH 80,000 »9H x12& 8,640
OJle sl 70,0003 9«12 7,560
202 04 dl 16,200 16,200
02 M0 16,200 16,200
OEHNH 150,000& x9H 128 16,200
203 R =&l 9,960 9,960
01 J122Z YR =4 6,600 6,600
OJIZ2Z YR F&| 550,000 »12& 6,600
02 33 H 2= 360 360
OIS 2= A 40,000& x99 360
04 FN2ELRZ=TH| 3,000 3,000
ORAM2IYRFLHI 250,000 122 3,000




N = 0l & At & Ml A

2AM: HE4S
N HHE4S FUNXMUEH 29S8

¢ FUXXME &85t CEERED)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EHE4s 399,961 382,655 17,306
B84 =0ANXME 22 323,966 314,560 9,406
FOUXXIME 4835t 261,590 212,880 48,710
FURMXAEH 29 161,440 112,180 49,260
201 Let24dy] 25,000 28,000 A 3,000
01 At 2teltl 15,000 18,000 A 3,000
OFLUXXHEH 224l 400,000& x12& 4,800
OFURXIHE 2AFA=H XS
30,0003 *25H x12& 9,000
OuslsAg Wl 1,200,000& 1,200
03 &AL Z I 10,000 10,000 0
OFCUXXEH &35 gH3 3,000,000& 3,000
OFTXEH nx - A8 & FAEHMSEZ
g 29 7,000,000 7,000
203 YR =&l 600 600 0
03 Al F=XH R =AH| 600 600 0
OAMBAHAS A 600,000 600
301 L2 A Z 129,040 82,080 46,960
10 #ALAHIE A3 129,040 82,080 46,960
OFUXXIEE XESAX AH 24
20,0003 *450H 123 108,000
OFUXXIHEH Ald2e] NHASAX AL 4 21,040
— &g 20,0003 x4 250 20,000
- =g 20,0003 «1H 52 1,040
405 THobF S| 6,800 1,500 5,300
01 AL EFH S 3,800 0 3,800
OFURNXME HSE M2 HIH(A )
600, 000 & *2JHK 1,200
OFQUNXMEH AAME HI| (M) 2,600
—ZEFH(RUEBEHZEE) 1,100, 000& »2CH 2,200
—dFH My 200,000& 274 400
02 =M=l 3,000 1,500 1,500
OFTXEH 282 &4 2
3,000,000& 3,000
QIAYRHe =29 21,600 22,200 A 600
201 £B-2%H| 21,600 22,200 A 600
01 At 22l 12,000 12,600 A 600
OQAHE HRF=& =&EH 1,000,000 122 12,000
02 2324l 9,600 9,600 0
Oz3&22= & HA 9,600




D EHE4AS
 EBHE4s FOXXHEH 29
D FUXNXAE 245

SN HH-S(BN) - MBAY - B il HlnE2
—QAUHE OI&82H 23 700,000& 128 8,400
—JItt RER= 100,000& =128 1,200
=, B8t& s 71,550 71,500 50
301 gt 4= 71,550 71,500 50
0582 -tEassgaas 71,550 71,500 50
Os&E=+¢ 200,000& *20H x143| 56,000
Os&3slo F4&dxg 20,0003 +20H 23«12 9,600
Otttz =g 25,000 x119H x23| 5,950
MR =252 S| 7,000 7,000 0
301 LEtE A= 7,000 7,000 0
10 #AtAHI 2 A3 7,000 7,000 0
OWRSBRUUEI HELZOR S
7,000 *50H «23| 108 7,000
EMN2H 62,376 76,680 A 14,304
EAN2F 3 40,076 37,680 2,396
201 £B-2d| 40,076 37,680 2,396
02 3323l 40,076 37,680 2,396
O3 & HA 11,400
—&JIe3 800,000& »12& 9,600
—&ot=k 23 50,000& »12& 600
—JIEt 322 & HA 100,000& »12& 1,200
oozl 12,000
—SAIARS 1,000,000& »12& 12,000
OAl& &8l |Xldl 9,076
— A Xl 400,000& x12& 4,800
— 203 =2 213,000 128 2,556
— FOIME wEBRAR (B
110,000 128 1,320
— 83tz FAH 400,000& x 13l 400
OXt&Htl 5,200
- X Sl 300,000& 128 3,600
— 0IEX S Xl 50,000& »12& 600
— 22X 2 0EX EE& 1,000,000& *13] 1,000
OFEA2Y Let==ZH| 200,000 »12& 2,400
EAEZMA 22,300 39,000 216,700
401 Al BIZ 201 8] 22,300 39,000 A 16,700
01 A&l 22,300 39,000 A 16,700
OFUMBRY HYA BLTA
2,000,000 » 14! 2,000
Oz+,283 4 & =22 MESAM
2,200,000 » 14! 2,200




2AM: HE4S
N HHE4S FUNXMUEH 29S8

Sel S MY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
obsza(-Hna) ¥S2 &x
1,800, 000& *2JH 3,600
OFOUXXHNEH A2 FANES SA
5,000,000& x14l 5,000
OU=EFEA HES Z2AH 9,500,000 14l 9,500
HESAAH (EHEHL4S) 75,995 68,095 7,900
olad 2 A Y| 28,185 24,815 3,370
ol A | 28,185 24,815 3,370
101 2121 H] 28,185 24,815 3,370
03 RIAHL*ZZXE S 28,185 24,815 3,370
OSF0HME HA22EH 28,185
- J=2a2 1,547,930 x12& 18,576
— HHZAH| 90,000 x12& 1,080
— @A S| 1,547,930 x100% 1,548
- JIEx4 120,000 x12& 1,440
—NL2RLY
7,270 =1 58 x15A| 2tx12& 1,963
—sg224g
7,270& =1 . 5H *8A| 2+ %2 %128 2,094
— X E 7,270 *8A| 2+ 16 931
—MUEE = 27,632,0009 x20/1,000 553
Jleddl 47,810 43,280 4,530
Jl2 &4l 47,810 43,280 4,530
201 LBt Y| 16,200 16,200 0
01 AP 22| d| 16,200 16,200 0
OBAd29| 80,000 x9H x12& 8,640
OJlE232 &l 70,000& x9H x 128 7,560
202 04| 16,200 16,200 0
02 NI 16,200 16,200 0
OEHAHHI 150,000 x9%H » 12& 16,200
203 €2 F&d| 9,960 10,000 N 40
01 JI22HYLRFAH| 6,600 6,600 0
OJ|22g9 g FF=&H| 550,000& x12& 6,600
02 AAADJMALAH 2 =X H| 360 400 AN 40
OFJIAtE 28| 40,000& 9™ 360
04 EASHEIRFAH| 3,000 3,000 0
OFMNSI LR 250,000 x12& 3,000
405 XHA&HF S HI 5,450 880 4,570
01 XAt = EF S HI 5,450 880 4,570
OIE I (M) 400,000 ~1CH 400




SN EHB4S
o HY2YAH (HB4S)

o T

el JI=23Hl

A -

Off &t 24

=Yr
i

2

O3 g EXH(&l) 600, 000& 1CH
Oslog QX (AalR) 170,000 107K
O3 g AR (&) 55, 000& x50 H

600
1,700
2,750




= o
N £ 0 & 23 H A A
2N 2F1E
M £3A1s FUNINEEH 29
Chel: FOXXIME 435 CEERED)
5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
=& 380,851 404,575 N23,724
=d1s FLUXNXHEH 22 311,140 338,650 A 27,510
AXHE 2435t 269,080 245,230 23,850
QINXIEEH 29 153,720 139,420 14,300
201 Let24dy] 26,200 26,200 0
01 At 2teltl 16,200 16,200 0
OFLUXXHEH 224l 600,000 »12& 7,200
OFURKAASE 50 HH+g
30,0003 *25%H %123 9,000
03 A2 Z Hl 10,000 10,000 0
FUNXAEH AZLEHS 3,000,000 3,000
OFUXXEH w7 - Ast & FALAEHMEEZZ
824 7,000,000& 7,000
203 YR =&t 600 600 0
03 A FAH S Z=AY| 600 600 0
OAMBANHEBSF=A 600,000 600
301 gt d= 109,120 108,320 800
10 AtAHIE A2 109,120 108,320 800
OFQURXIHE XJASAR AH 2a
20,0003 367" +123 88,080
OFUXXHEH A2l A SAHA A2 4 21,040
— &g 20,0003 *4H 250 20,000
- =2 20,0003 =1 x52 1,040
405 TtobH S| 17,800 4,300 13,500
01 AL EZFH S 15,800 2,300 13,500
Oodgzolg Acls(aR) 320,000 *25H4 8,000
Ol (&) 2,800,000 =1H 2,800
Ol HA(UA) 2,500,000 »2CH 5,000
02 TN=H 2,000 2,000 0
OFUXXHEEH &M 2,000,000& 2,000
QRAALIH 2 31,150 21,600 9,550
201 Let249] 21,600 21,600 0
01 At 224l 9,600 9,600 0
OAHFHRZ=A=EH| 800,000& »12& 9,600
02 2324l 12,000 12,000 0
OoZUEOSES fERZ 1,000,003 122 12,000
401 AIEHIZL 20 9,000 0 9,000
01 A& Bl 9,000 0 9,000
OCCTv & Xl 9,000,000 » 14! 9,000




2N
X ZH -
L= B

el

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
405 TtobFH S| 550 0 550
01 AL EZFH S 550 0 550
OZAESII(THA) 550,000& 12X 550
s.2E 83X 78,610 78,610 0
301 L2 A F 78,610 78,610 0
058-2l-g¥as2a3 78,610 78,610 0
os& 72,160
—s&¥=4 200,000& x22H x143| 61,600
—sT3YEFAY  20,000& 22 23| x12& 10,560
Otttz =g 25,0003 x129H x23| 6,450
MRe =52 &S| 5,600 5,600 0
301 et 8= 5,600 5,600 0
10 AtAHIE A3 5,600 5,600 0
OMRet==2Z US| WELFHNSAMS
7,000 <40 23] 10 5,600
= EAN2Y 42,060 68,420 A 26,360
A A2 3 42,060 42,920 A 860
201 Let249] 42,060 42,920 A 860
01 At 22l 2,400 2,400 0
O at2tel Let=EZH| 200,000& 128 2,400
02 =224l 39,660 40,520 A 860
O=323<LHA 12,600
—dIRea 800,000& »12& 9,600
EaRA el B = 150,000& =123 1,800
—JIEtEse= 100,000& »12& 1,200
O¢zHl 12,000
—SAIARZE 1,000,000& =122 12,000
OA&ZHl |Xb 9,960
— Zatateldl 110,000 128 1,320
— RolZHAAEEBA R 220,000 128 2,640
— JIEtAIE E = X 22l 500,000& »12& 6,000
OXt& s Xl 5,100
— A&l 300,000& 128 3,600
— 2N 282 1,500, 000& 1,500
HHSAAY (2T1S) 69,711 65,925 3,786
ol 2d | 27,351 23,565 3,786
ol 2AY| 27,351 23,565 3,786
101 @124l 27,351 23,565 3,786
03 RIHAZ 2N E =+ 27,351 23,565 3,786




SM: 2F1S
B #HSAPL (LA1S)
Ee: ol 29|
5 . 4
SN ED B (3H) - MEAY - BAS ol &k o8 %@i
OSF0ME HA22H 27,351
—-Jl2=
(1,547,930 «6& )+(1,565,300 »6H ) 18,680
— M ZAH| 90,000 x12& 1,080
ST
(1,547,930 +1,565, 300 ) *50% 1,557
—JIEx¢ 20,0002 x23 x12€ 480
R ELE
(7,270 x6R 47,3402 6= )»1. 504 x15Al 2+ 1,973
— 542244
(7,270 x6R 47,340 »6R ) 1. 5HI x8 Al 2+ %2 2,104
ol
— AX G 7,340 «8BA| 2tx16 940
—AMEEgE S 26,814,000 *20/1,000 537
JlE&dl| 42,360 42,360
Jl2AH| 42,360 42,360
201 et 16,200 16,200
01 AFR 2t 2| bl 16,200 16,200
MG 80,000& x9H x12& 8,640
OJls2&dl 70,000 x9H x12& 7,560
202 o4 | 16,200 16,200
02 EHNHI 16,200 16,200
O HAHH| 150,000& x9H ~12& 16,200
203 2P E= | 9,960 9,960
01 JI22HHRFF | 6,600 6,600
OJ|&232g9g2=&| 550,000 x12& 6,600
02 BRI HR2FAH| 360 360
OXFIINMA 2 =AH| 40,000& »9H 360
04 FEASHEYRFFEH| 3,000 3,000
OEMSIgELE2F=8H| 250,000 x12& 3,000




N = 0l & At & Ml A

SN SRS
M =228 FUNXME 23
el EOIRXIME 245 CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=28 604,354 564,971 39,383
&2 FLUXNXHEH 22 526,421 493,430 32,991
FOUXXIME 4835t 420,221 320,380 99,841
FURMXAEH 29 216,228 180,350 35,878
201 Let24dy] 33,600 33,600 0
01 At 2teltl 19,200 19,200 0
OFLUXXHEH 224l 600,000 »12& 7,200
OFUNXSA 3o &ML
30,0003 *25H x12& 9,000
OFUXXIHEH AAX L2t 3,000,000& 3,000
02 23=24gHl 2,400 2,400 0
OFLUXXEH &Ad SXH 200,000 122 2,400
03 A2 Z Hl 12,000 12,000 0
OFUTXEH wx - A8 & FAEHMSEZ
g 29 7,000,000 7,000
OFUXXHEH HBLESI 3,000,000& 3,000
OSMZa 29 500,000& *43| 2,000
203 AR E= | 600 600 0
03 AIMF=AH 2 =AH| 600 600 0
OANMBANH#HZ=ZES 600,000 600
301 L2 A Z 166,080 136,400 29,680
10 #ALAHIE A3 166,080 136,400 29,680
OFUXXIEE X3 SAX AH 24
20,0003 «600H 123 144,000
OFUXXIHEH Ald2e] NASAX AL 4 22,080
=h= 20,0003 *4H x250 20,000
=2 20,0003 «2H 52 2,080
A F S 15,948
NETEEEE 15,948
ZORXME BAM |7 9,700
— RO A (THH) 2,400,000 *2C} 4,800
— MOIZ(THA) 1,200,000& = 1CH 1,200
—SLoID|(221E, M) 800,000 =1CH 800
—dO=ZH AN A(CHA) 2,900,000 = 1CH 2,900
OFQUNXMH T2 (224) 22 2,680
— el (A) 120,000& =44 480
—MNES(AFH) 300, 0002 27K 600
— RS2 (M) 160, 000 = 10K 1,600
OFURNXME HSELH ME(MF)
1,500, 000& * 14 1,500




SA: RS
HE: £72S FOUNKME 2
Chol: FOIXIXIME BA 5 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZFHRA 2A BFH(SLIEZE M)
1,100, 000 *1CH 1,100
O2M M I (& 57) 550,000 = 10H 550
Od&E () 418,000& = 1CH 418
Y eHdel2d 23,930 24,190 A 260
201 ¢er24] 20,400 23,400 A 3,000
01 At 2t 2l 10,800 10,800 0
ORUFAZARFA =24l 900,000& 122 10,800
02 2324l 9,600 12,600 A 3,000
O=22= & HMAl AZUHE0S SERS
800,000& »12& 9,600
405 TtabF S 3,530 790 2,740
01 AL EFSFHSHI 3,530 790 2,740
Odlol M= elef (CHAl) 800,000 = 1CH 800
FUSESZEI(AMR) 900,000& = 1CH 900
OcHI HSHEAIE (M) 290,000 20K 580
SO (HA) 700, 000& = 1H 700
SARESESII(HA) 550,000  1CH 550
s.0E 83X 82,440 82,440 0
301 et a3z 82,440 82,440 0
058-2l-egHas2a3 82,440 82,440 0
os& 75,440
— =g 200,000& *23H x143| 64,400
— 2oL 20,0003 «23H «23| x 122 11,040
Otttz =g 25,0003 *140H »23| 7,000
MRe =52 eS| 7,000 7,000 0
301 et d s 7,000 7,000 0
10 AtAHIE A3 7,000 7,000 0
OMRBBSUNSI HEL EHOX SAY)
7,000 «50H 23] 10 7,000
HE L =T 26,400 26,400 0
307 gl & 26,400 26,400 0
04 QIZHHALE = 26,400 26,400 0
OgHA B& =H 26,400, 000& 26,400
2EN2 2EHE2D 29 64,223 0 64,223
101 @124 Hl 14,493 0 14,493
04 JIZHHZ2XREES 14,493 0 14,493
22 22 14,493
—Jlz2s 38,970& »249 9,704
—Hx==g 38,9703 12 468




SN HH-S(BN) - MBAY - B il HlnE2
—Re5gd 38,970 »52 2,027
— ZE S| 500,000 »23| 1,000
—AZBE= 13,199, 000& *2.9% 383
—LoRUABEZ 383,000& x6.55% 26
— =33 =2 13,199, 000& *4.5% 594
- 1828z 13,199,000& *1.4% 185
—MHEE = 13,199,000& *8/1,000 106
201 et 12,800 0 12,800
01 At 22l 12,800 0 12,800
O N2t 24| 200,000& 128 2,400
OX2EMZ MR2E A2F 3,000, 000& 3,000
O AM2el AEE B2 600& *4,0004 2,400
OEAMzel =220 5,000,000 =14 5,000
401 Al HI L 20l 1,500 0 1,500
01 A& HI 1,500 0 1,500
OXST M2 Atel2 4X 1,500,000& 14 1,500
405 TtHakF S| 35,430 0 35,430
01 et EFSHSHI 25,430 0 25,430
OX2T N2 29 FII(MR) 25,430
— S A& JR(HolE, &0, oX, B
g) 5,000,000& =14 5,000
— Ol EZBIH(EWH) 350,000& = 1CH 350
—ZEH(QUEHZE) 1,240,000& »2CH 2,480
— NE XL =D 500, 000& »2CH 1,000
—HIZEAMY 250,000 =14 250
—SNEY BXALE 13,000, 000& 14! 13,000
—oA3g 2dol 3,000, 000 *1H 3,000
— 294 350, 000% = 1CH 350
02 = A=l 10,000 0 10,000
oMz TA7Y 10,000& *1,0002 10,000
FMN2F 106,200 148,050 A 41,850
FA2E 3 91,400 80,050 11,350
201 LBt 86,250 80,050 6,200
01 At 22l 3,600 1,000 2,600
OMat2te| LBt=~EZH| 300,000& 128 3,600
02 8323l 82,650 79,050 3,600
O2323 % HMA 1,800,000& »12& 21,600
Odot=ER= 400,000& x12& 4,800
OJIEt 2323 ¥ HA 1,200,000& 1,200
OEAIHARZ 2,000,000 x12& 24,000




SN SRS
M A2 FUXNILEH 29
el S AR CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OAN & ZEH ®XHl 200,000& 128 2,400
ORoBH =2 200,000& 128 2,400
O8Il |SX&eltl 170,000& =123 2,040
O&I|etE2e| eyl 160,000& = 12& 1,920
OJIE AIE ZHIK I 512,500& 12& 6,150
OXt& =Xl 300,000& »12& 3,600
OO0l & Xt = Xl 8l 50,000& »12& 600
O&EAMN2Y Let=EH| 200,000& 128 2,400
SEA & at2te| eyl 220,000& 128 2,640
OE=x4 dtte)] Fl 2,800,000& 2,800
OF=PNEE=: ]| 300,000 »23| 600
OFst=U LFMAANE(BINS=EX)
3,500,000%* 14! 3,500
405 RHoHE S HI 5,150 0 5,150
01 XL 2 ZF S| 5,150 0 5,150
O&BHAI(AFR) 250,000& = 1CH 250
O AIE EHIOIS (CHAI) 100, 000 & *30JH4 3,000
O#AMNE HU(HAN) 400, 000& =14 400
OLRE OIS XH(CHAI) 1,500,000 = 1CH 1,500
AN 14,800 68,000 A 53,200
401 AIEHIZ 28I 14,800 68,000 253,200
01 A& HI 14,800 68,000 A 53,200
OSEA S4 Y3 At 4,000,000 * 14! 4,000
OQIJA MEEA F=TZA 1,000,000 14! 1,000
OSHA 8&8 2N 2 8F =
2,500, 000& 1Al 2,500
OS&EA HHIE&E & 2,300,000 » 14! 2,300
OQla &= A ZA 1,500,000 * 1Al 1,500
Os&EA sXU SEtel X3 At
3,500, 000 14! 3,500
HE 2RI AU (=R2S) 77,933 71,541 6,392
el 2l 27,343 25,541 1,802
ol 2AH| 27,343 25,541 1,802
101 1A b 27,343 25,541 1,802
03 RIAHAZZAE S 27,343 25,541 1,802
Os=0dH HA2el & 27,343
—Jl=s 1,582,660& x12& 18,992
— ZWZ A 90,000& »12& 1,080
— ZE S0t 1,582,660& *100% 1,583
— At 24
7,420 1.5 » 15A1 2t x 128 2,004




EXN: £=82s
HE: HYLYPY (2T2E)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Py
7,420 =1 5H 8 Al 2tx2 x 122 2,137
— XY 7,420 *8A| 2Hx 17 1,010
—AMEE 2 26,806,0002 x20/1,000 537
JlE&d| 50,590 46,000 4,590
Jl2 &4l 50,590 46,000 4,590
201 gBt24y| 19,800 18,000 1,800
01 AP 2t 2| H| 19,800 18,000 1,800
M9l 80,000 x112 x12& 10,560
[OPIE==2=1l 70,0003 x11H x12& 9,240
202 044l 19,800 18,000 1,800
02 NI 19,800 18,000 1,800
OgHAHY| 150,000 x 11 x12& 19,800
203 R F & 10,040 10,000 40
01 JI22H Y RFAH| 6,600 6,600 0
OJ|jHdgdgd2=ay| 550,000 x12& 6,600
02 MY P EX Y] 440 400 40
OFSINMH L2 E=AH| 40,000 11X 440
04 EASHEYRFAH| 3,000 3,000 0
OBAM2g9Ig2=&| 250,000 x12& 3,000
405 RHoHFE S HI 950 0 950
01 XA E B F S| 950 0 950
O2F(dH) 500, 000& =14 500
O0l=2& (A7) 450,000 =14 450




>
N £ 0 & e E M A
SN BUS
M Hills FUUXNAH 29
el FOUNXIME 2435t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
His 426,517 358,073 68,444
Hiis =UXXME 22 347,726 291,826 55,900
FOUXXIME 4835t 217,670 210,170 7,500
FURMXAEH 29 111,050 108,420 2,630
201 Let24dy] 25,000 25,000 0
01 At 2teltl 15,000 15,000 0
OFLUXXEEH 2SI 500,000& = 12& 6,000
OFURXIA 50 Hasg
30,0003 *25H x12& 9,000
03 A2 Z Hl 10,000 10,000 0
OFUXXHEH HBLES 3,000, 000& 1Al 3,000
OFLUXXEH 7, As ¢ FAEHE 22
8 24 7,000,000& » 14! 7,000
203 YR =&t 600 600 0
03 A FAH S Z=AY| 600 600 0
OAMZBAM &5 =& 600,000 600
301 gt d= 77,040 77,120 A 80
10 AtAHIE A2 77,040 77,120 A80
OFQURXIHE XJASAR AH 2a
20,0003 275" 123 66,000
OFUXXHEH A2l A SAHA A2 4 11,040
— &g 20,0003 x2H 250 10,000
- =2 20,000 «1H x522 1,040
405 RHoHF S HI 8,410 5,700 2,710
01 AL EZFH S 8,410 3,700 4,710
OXdtEzunas 29 23 410
— HMSII(&R) 410,000& = 1CH 410
OFXXEH 25 8,000
— g (A ) 3,000,000 = 1CH 3,000
—HEdsEd 2SI (UH)
5,000,000& =14 5,000
QIAYRHe =29 21,710 20,020 1,690
201 Let24d] 18,360 18,360 0
01 At 22l 9,600 9,600 0
OQJAF HRFA =2t 800,000& »12& 9,600
02 =224l 8,760 8,760 0
O332= & HA 8,760
—ZUEOES RERS
1,750& 36000 » 122 7,560
—JItt RER= 2503 *40001 x12& 1,200




SN BUS

N HUsS FUNINLE 29
¢ FUXXME &85t CEERED)
A - ER(EN) - AR - B of & o4 SSa HIDZ2

405 At&tE =HI 3,350 1,660 1,690
01 ML ESFHSH 3,350 1,660 1,690

Oz=BUZAIAE(AR) 2,800,000% * 14! 2,800

OZ2AMMESII(THA) 550,000 1CH 550
.8y #gsA3 77,910 74,730 3,180
301 €EtE A= 77,910 74,730 3,180
06&-cl-t¥3es2d= 77,910 74,730 3,180

os¥ 72,160

—=g 200,000& 22 x143] 61,600

—AFA+E 20,0003 x22H 23| x 128 10,560

ogtd =4 25,0003 x115& »23| 5,750
MWRE =252 2SI 7,000 7,000 0
301 eetEa = 7,000 7,000 0
10 HALMHIEA S 7,000 7,000 0

OMWRet ==22SI| HIELFOUA S 44|

7,000& x50 23| x10& 7,000
s IM2d 130,056 56,656 73,400
AMN2EEHI 130,056 56,656 73,400
201 fEt2E | 48,856 36,656 12,200
02 S2=9Hl 48,856 36,656 12,200

0532 £ MA 13,200

—&Jles 800,000& »12& 9,600

— 4ol R 100,000& »12& 1,200

—JIEt 3323 % HMA 200,000& =123 2,400

@)eN=a.] 9,600

—SEANIARS 800,000& »12& 9,600

OAlZ& &S Xlbl 10,956

— A=A 300,000 x12& 3,600

—Ro3HF=E 203,000& »12& 2,436

— Z AL Y2yl 110,000& =122 1,320

—JIEt AIE&&Hl | Xbl 200,000& »12& 2,400

— AN B H =2 100,000 x12E 1,200

OXt& ] 7,100

— R 300,000& x12& 3,600

—ZEXE AIEdoE 1A 1,500,000& 1,500

— XHEEE 2,000,000& 2,000

OFAgHAS 3,000,000& 3,000

OFA 28 & R A 3,000,000& 3,000

OFAL =238 dX&HY 2,000,000 2,000
401 Al H L 2T 81,200 20,000 61,200




SN HHS
M OE FANXME 29
o9l s BARY )
= - — SHE|
SN HH-S(BN) - MBAY - B e 2
01 A& bl 81,200 20,000 61,200
O=4 WH+2FY L Y2TA
15,000, 000& 14 15,000
O35 U=H4A UESTH WMBA
20,000,000 » 14! 20,000
OXlot 2 22 WHBA
6,200,000 » 14! 6,200
Os =gd A BS Ex3A
40,000,000& » 14! 40,000
HY2ABH(HUS) 78,791 66,247 12,544
ol 2 gl 33,733 27,527 6,206
ol 2AH| 33,733 27,527 6,206
101 14 dl 33,733 27,527 6,206
03 RIHAZZ T E =+ 33,733 27,527 6,206
Os=QdH FA2el & 33,733
—-Jl=s 1,843, 150& « 122 22,118
— ZHZ A 90,000 »12& 1,080
— HES0td| 1,843, 150& *100% 1,844
—HESY 130,000& 128 1,560
L EELE
8,580& 1. 58« 15A1 2t 12& 2,317
- gu294g
8,580& 1. .58 «BAl 2t 22 »12& 2,472
— g 8,580& *BAl 2H*24 1,648
—dTHEEZ 33,039,000& *21/1,000 694
=3l 45,058 38,720 6,338
Jl23Hl 45,058 38,720 6,338
201 Let24dH] 16,200 14,400 1,800
01 AP 2t 2|l 16,200 14,400 1,800
ORA2Y 80,000 «9H «12& 8,640
oJl2s 70,0003 «9H x12& 7,560
202 odl 16,200 14,400 1,800
02 X 16,200 14,400 1,800
OEH 150,000& x9H »12& 16,200
203 PR =&l 9,960 9,920 40
01 J22F P2 =8| 6,600 6,600 0
OJI22g g2l 550,000& 128 6,600
02 At = &H| 360 320 40
OIS L F= &Y 40,0003 94 360
04 2SI HR2F=EHI 3,000 3,000 0
ORN2IYS =2 250,000& 128 3,000




S E=l =
B NSRBI (HUS)
chelr D123l
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
405 RHoHE S HI 2,698
01 AL EZFH S 2,698
Ol & () 850,000 *1CH 850
Ol & () 530,000& = 1CH 530
OdZED(HA) 418,000 «1CH 418

OME&3II (&) 900, 000& *1CH 900




N = 0l & At & Ml A

SN MME
HH: ANME ZUX
o

XHEH 29
Sol: FOIXME B8t (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
MAES 446,579 488,808 N42,229
MAEES FOXXEEH 249 375,170 421,200 N 46,030
FOXXAE 435 241,010 222,640 18,370
FOIXNXMEH 29 142,390 130,520 11,870
201 LEt2 Y| 27,400 28,900 A 1,500
01 AR 22| I 17,400 18,900 A 1,500
OFoUXXHEH 23H| 700,000& x12& 8,400
OFOTXIAAE 3O &ALY
30,000& *25H x12& 9,000
03 SHALS H I 10,000 10,000 0
OFUXXHEH HBLHS 3,000, 000& 3,000
OFUNXHEEH s -As ¥ HAUEME =Z2
0y 29 7,000,000& 7,000
203 R =&Y| 600 600 0
03 Al =X H R =X Y| 600 600 0
OAEANMFEESH| 600,000& 600
301 et A= 100,040 99,120 920
10 AR HI 2 A2 100,040 99,120 920
OFUXNXHE KNS AXH(ZAN) AH 24
20,000& *350H x12& 84,000
OFUXXHE Al82tel NI ESALA AlH 2 A 16,040
-3y 20,0003 *39 250 15,000
— =g 20,0003 1 =52 1,040
401 Al HI L 2 0HHI 1,000 0 1,000
01 A& HI 1,000 0 1,000
OAZ MIIEHIBSAHLEIIALX)
1,000,000& * 14 1,000
405 XHaHF SHI 13,350 1,900 11,450
01 M = S F SHI 13,350 1,900 11,450
OZolal ZHAH(AT) 250,000& =504 1,250
O2A9lal oXH(al ) 55,000 *10H 550
OMEE o X (&R) 180, 000& *3H 540
ONAZ-BRAd MBHOIE (M)
140, 000& *3H4 420
O0lneHE-0toI 2E (THA) 400, 000& = 1JH 400
O3z gdAX XN 02 A SE(KF) 7,040
— MOl 2 900, 000& *2CH 1,800
—ord 88,000& =51 440
—d2AQH 1,600,000 *1CH 1,600
— OlH EHOI 1,600,000& = 1CH 1,600
- &8s HR2 1,600,000 *1CH 1,600




2A: AN

M Ay MHE 2
¢ FUXXME &85t CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHE= (&) 150,000& 54 750
OHAIEHIOIS (& 1) 45,000% *20 K 900
O-AFE X (&l 71) 15,000& * 1004 1,500
QIAYRXHe =29 23,400 20,400 3,000
201 Let2d] 20,400 20,400 0
01 At 22l I 9,600 9,600 0
OLAAEZFLYRZ=A=EH| 800,000& »12& 9,600
02 =224l 10,800 10,800 0
OZUHAEOS S RHERS 900,000& »12& 10,800
405 TtHobFH S| 3,000 0 3,000
01 AL EFFHSHI 3,000 0 3,000
O=BUIIE(AR) 3,000,000& =14 3,000
s.2E 83X 68,220 68,220 0
301 e A= 68,220 68,220 0
058-2l-EasE43 68,220 68,220 0
OEX 62,320
— =g 200,000 x19% x143| 53,200
— oA 20,0003 «19H 23| x12& 9,120
Ot g 25,000 x118H »23| 5,900
MRE =222 S| 7,000 3,500 3,500
301 L2 LS 7,000 3,500 3,500
10 HALAHI 2 &2 7,000 3,500 3,500
ONRe==2SI| HELX FHAL 24 MBS
7,000 «50H 23| 10 7,000
s FA2d 134,160 173,560 A 39,400
A28 3 134,160 173,560 A 39,400
201 €24 116,260 112,260 4,000
01 At 22l 10,800 4,800 6,000
OFAr2tel el 400,000 x12& 4,800
OJAdEHED o2 2 WX
1,500, 000 *4CH 6,000
02 25=24gHl 105,460 107,460 A 2,000
Ozs&22= & HA 39,600
—dIRea3 2,500,000 x12& 30,000
—&otxER=a 550,000& 128 6,600
—JIEt 23232 & WA 250,000& 128 3,000
O =l 42,000
—SAIARZE 3,500,000& *x12& 42,000
OAIE ZHIS X 19,060
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LAz FUXXMME 2 456,880 780,907 A 324,027
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01 At 2teltl 15,000 15,000 0
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30,0003 *25%H %123 9,000
03 A2 Z Hl 10,000 10,000 0
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8 24 7,000,000& 7,000
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01 Al& H| 9,900 209,670 A 199,770
OAXNsS FAF AT 22| 9,900,000 x4l 9,900
405 XHo&HF S HI 5,000 0 5,000
01 AL 2 ZF S| 5,000 0 5,000
OSZal sgoH(AR) 3,000,000& 14l 3,000
OSZA SACHH SEE(AMR)
2,000,000& x14! 2,000
HES2IAAH (YR S) 82,727 78,150 4 577
olea2AH| 32,187 27,510 4,677
ol ALY 32,187 27,510 4,677
101 e1214| 32,187 27,510 4,677
03 2INHAZ2ZXNHE = 32,187 27,510 4,677
OsF=04dEH HAZ2 S 32,187
-Jl22
(1,773,690 «92 )+(1,791,050 x3& ) 21,337
— HHZAH| 90,000 x12& 1,080
— @A S| 1,773,690 x100% 1,774
- JIEx4 100,000 ~12& 1,200
—N2aRLY
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~ 52224y
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01 AR 22l ] 19,800 19,800 0]
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203 & 2 =&H| 10,040 10,040 0
01 JI22HE L FFEAH| 6,600 6,600 0
OJ|232g9g2x=8d| 550,000 x12& 6,600
02 BRI YR2FAH| 440 440 0
OFJINNMH 2 =X 40,000& x11H 440
04 FEASHEYIFFEH| 3,000 3,000 0
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g Al

CVRET-1=
PRSI S FOXNXNME 29
CHe XAE 243l Chel: ® &)
- _ _ RE]
CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
=35 375,035 438,506 NB3,471
= DIXIXIME 29 299,440 367,480 A 68,040
HdE 2435 234,700 225,640 9,060
IXIAEH 29 134,040 137,220 A3,180
Bt AH| 25,000 25,000 0
AP 22| | 15,000 15,000 0
OF0XXAEH SHH| 500,000 x12& 6,000
OFANXIAS 510 &4 g
30,000 x25H x 12& 9,000
SHAIS EH| 10,000 10,000 0
OFQIXMEH =282 SHEF 3,000,000 3,000
OF0XXAEH BE - A8 L FAEHEEZZ
o &4 7,000,000& 7,000
A2 =AY 600 600 0
Al = A2 = XY 600 600 0
OANEANH &5 F&X 600,000 600
ot A= 92,840 91,920 920
SHAIAIH| 2 A2 92,840 91,920 920
OFQXXAEH KNSESALA AHEA
20,000& x320H ~12& 76,800
OFOIXXHAEH AE2e AESALA AU E4A 16,040
—EHY 20,000& »3H x250& 15,000
— o 20,0003 124 52 1,040
XHAESE S H| 15,600 8,700 6,900
AL 2 F F S| 15,600 7,700 7,900
OMgEcAA AL HA(AMTF) 2,500,000 =40H 10,000
OF0lna EX3E,UA) 150, 000& =44 600
EFRO (A7) 2,500,000 «2CH 5,000
o 2xHel 29 21,480 26,490 A5,010
et AH| 20,580 20,500 80
AP 22| | 9,680 9,600 80
O0RAHY HRFA =24 800,000& x12& 9,600
OF0SES ctHt0lE 80,000& 1JH 80
22394 10,900 10,900 0
O22322 % HA 10,900
—QIZHE Ol RER2 600,000 x12& 7,200
—JIE ER2 100,000 x12& 1,200
—OIZESAHE 2 QESYS
50 «10,000H 2,500
AHAESE S H| 900 5,990 A5,090




SN =S
M =2HE FOANKME 2
¢ FUXXME &85t CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AR E S H S 900 5,990 A5,090
OZtZ eIl (A&, HAl) 600,000 »1CH 600
OREII (&) 300,000& =174 300
= .8tE s 74,980 57,730 17,250
301 et d s 74,980 57,730 17,250
05S-cl-EtEEsEas 74,980 57,730 17,250
Oos¥% 68,880
-4 200,000& *21H x143| 58,800
—3lo &Y 20,000 x21H »23| «12& 10,080
ogtd =& 25,0003 x122H »23| 6,100
=52 sl 4,200 4,200 0
AUE A F 4,200 4,200 0
0 HAAHI R4S 4,200 4,200 0
OMRE 222 VST =L BOHT A
7,000& 30 «23| 102 4,200
FA2d 64,740 116,840 252,100
FA2E 3 61,740 62,240 A 500
usr2 oyl 61,740 62,240 A 500
23224l 61,740 62,240 A 500
Oz3&82= & HA 19,440
—dlIes @ AMAA A=
1,200,000& =122 14,400
—& .ot 23 120,000& 128 1,440
—JIEt 2322 & HA 300,000& »12& 3,600
O =zl 12,000
—SAIARSB 1,000,000 x12& 12,000
OA& &8l ®Xldl 21,600
— A | XH| 500,000 128 6,000
— 20 FHl =8 200,000& 128 2,400
— At 2teltl 200,000& 128 2,400
— s |4 224 200,000& 128 2,400
—JIEt AIEEHl |l 500,000& 12& 6,000
— e 2 A0 /A&l
200,000 »12& 2,400
O Xttt 5,100
- g S5 300,000& =128 3,600
- g B2E8= 1,500, 000& 1,500
OFA2Y Let==EH| 300,000 x12& 3,600
SN 3,000 54,600 A51,600
401 A& H L 20l 3,000 54,600 A51,600
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Sel S MY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 3,000 54,600 251,600
OFAL & 2l =3 &8X &I
1,500, 000& 23] 3,000
HY2IZH (BES) 75,595 71,026 4,569
ol 2 gl 29,345 25,026 4,319
ol 2AH| 29,345 25,026 4,319
101 1A Hl 29,345 25,026 4,319
03 RIAHAZZTHE =+ 29,345 25,026 4,319
Os=QdH FA2el & 29,345
—Jlzs 1,652, 130& 122 19,826
— ZHZ A 90,000& 128 1,080
— 32 S0yl 1,652, 130& *100% 1,653
—HESY 60,0002 »12& 720
L EELE
7,730 1.5 x15A1 2tx12& 2,088
—pYIR4y
7,730 «1. 580 x8Al 2t +22 x 123 2,227
— X< 7,7303 *BAl 2k+19L 1,175
—dTHEE =S 28,769,000& *20/1,000 576
Jl=&l 46,250 46,000 250
Jl=dl 46,250 46,000 250
201 Let249] 18,000 18,000 0
01 At 22l 18,000 18,000 0
OFNM2gHI 80,000 10 x12& 9,600
OJlEas &l 70,0002 x10H «12& 8,400
202 (44l 18,000 18,000 0
02 MO 18,000 18,000 0
OEHH 150,000& x 108 «12& 18,000
203 YR =&l 10,000 10,000 0
01 JI122E =4 6,600 6,600 0
OJIZ2Z YR8 550,000& »12& 6,600
02 It =& 400 400 0
ORI LLRFTY| 40,0008 *10% 400
04 FN2ELRZ=TH| 3,000 3,000 0
ORMSIYRFL 250,000 128 3,000
405 RHoHE S HI 250 0 250
01 et EFSFHSHI 250 0 250
oolgel HJtE (UA) 50, 000& *5H 250
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g MEs =0T
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MES 188,805 202,871 A 14,066
MES FLUNXHH 22 128,370 145,850 A 17,480
FOUXXIME 4835t 82,670 75,150 7,520
FURMXAEH 29 46,500 38,980 7,520
201 Let24dy] 17,800 17,800 0
01 At 2teltl 13,800 13,800 0
OFLUXXHEH 224l 400,000& x12& 4,800
OFTXAE 3o HA&E
0,000 «25H « 128 9,000
03 A2 Z Hl 4,000 4,000 0
OFQUXXIHE Ast & R 2,000,000 2,000
OFUXXEEH ASLHES 2,000,000& 2,000
203 YR =&l 600 600 0
03 AIMF=XH R =AH| 600 600 0
OAMZBAH &sx2 600,000 600
301 et a = 26,600 20,580 6,020
10 HALAHI 24 S 26,600 20,580 6,020
OFUXXIEE X3SAX AH 24
20,0003 *90H «12& 21,600
OFUXXIHEH Ald2e] NASAX AHE 4
20,0003 =1 »250 5,000
405 RHoHE S HI 1,500 0 1,500
01 AL EZFHSHI 1,500 0 1,500
OXXEEH Z2082F =82
1,500,000& 14 1,500
QERHdel 24 10,440 10,440 0
201 24l 10,440 10,440 0
01 At 22l 8,400 8,400 0
OLAHILLRE=N =ZH| 700,000 122 8,400
02 23=2gHl 2,040 2,040 0
OelZUE 0l RERZ 120,000 128 1,440
OJIEt 2ERI 50,000& 12& 600
=,8E 23X 21,530 21,530 0
301 et a = 21,530 21,530 0
0bE-cl-EEas:2as 21,530 21,530 0
Os&¥=+g 19,680
-4 200,000& *6H x143| 16,800
— sl 20,0003 «6H «23| x 128 2,880
Ogta =g 25,0003 «37H *23] 1,850
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OMRe ==sLUSI| HEALFOUA S4H|
7,000 <30 23/ 102 4,200
s FA2d 45,700 45,700
HA2S A 45,700 45,700
201 L Er2A | 45,700 45,700
02 3324l 45,700 45,700
O33x2= % MA 33,700
—8&IIe=s 1,000,000& x12& 12,000
—d. o= 50,000& =12 600
—HEINY B8R 700, 0003 « 1CH 700
—SAINARS(FUMH) 900,000& =128 10,800
—SANIIALS(EAR) 500,000& »12& 6,000
—JIEt 33823 300,000& = 12& 3,600
OAZZHl |XHl 8,400
— R0l === 200,000& 12 2,400
— JIEtAI € EHI s X 200,000& 122 2,400
— A= X8 300,000& 12 3,600
OXrg =Xl 300,000& =122 3,600
S (MES) 60,435 57,021
eI 2 28,995 25,581
oI 2| 28,995 25,581
101 Q124 4] 28,995 25,581
03 R AHAA2Z2NHE =+ 28,995 25,581
OS24 H FAr2e & 28,995
—Jl2s
(1,652,130& *9& )+(1,669,490& »3& ) 19,878
—dAasAtl 90,000& 12 1,080
— S E St 1,652, 130& *100% 1,653
- &= 20,000& 122 240
—AN22RxE
(7,730 x99 17,8102 »3& ) »1 .58 x 15A1 2+ 2,093
— 52228
(7,730 x92 47,8102 »3& ) »1 . 5UH xBA| 2H+2 2,232
ol
— X4 7,810 *8Al 2+%202 1,250
—MHEEE 28,426,000& *20/1,000 569
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= A
N = 0 At o H A
EX: DS
HEM: NS AHEH &9
&l F=0l 435 Chel: ® &)
5 - 4
B9 (3 ) - HISAIY - BAS Ol At o %@ﬁ HRE2
Es 226,655 240,987 N 14,332
nNss = H &9 162,640 181,690 A 19,050
43 129,600 126,550 3,050
dE &9 65,890 62,840 3,050
QB2 A Y| 17,800 17,800 0
AP 22| | 13,800 13,800 0
OFQXXHEH 24 400,000& x12€ 4,800
OZQINSIAS 30 HEL+Y
30,000 x25H x 12& 9,000
SHAIS EH| 4,000 4,000 0
OFQXIXMEH 22T 2,000,000& 2,000
OF0XXMEH A L WNE 2,000,000& 2,000
AR =X 600 600 0
Al =R 25 X H| 600 600 0
OANEBANH &= =X 600,000 600
ot A= 46,840 44 440 2,400
SHALAIHI B A2 46,840 44 440 2,400
OF0XXIAE XNSSALA AH A
20,000& *170H x12& 40,800
OFQIXXHAEH AlE2e ARESAX AH EA 6,040
—Hy 20,000& 1 x250 5,000
—F=Q 20,0003 x1H x52! 1,040
AHAESE S| 650 0 650
ALY 2B F S| 650 0 650
OB (A7) 90, 000 *5JH 450
OAD(AIF) 40,000 =54 200
DIAHL2He 29 10,200 10,200 0
et AY| 10,200 10,200 0
AP 22| d| 8,400 8,400 0
OQIAMHADRER £2H  700,0002 *122 8,400
02 224 H| 1,800 1,800 0
OZ2222 2 HMAH(RER2) 150,000 12 1,800
s B 213 30,870 30,870 0
301 LBt A= 30,870 30,870 0
052 -BtEEsEAZ 30,870 30,870 0
Os&dsd 200,000 x9H x143] 25,200
OsSH 3o &AM =&  20,000&+9Y *x23|+x12& 4,320
OBt& =& 25,0002 272 x2 3| 1,350
MRE =232 S| 5,040 5,040 0
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 et A= 5,040 5,040 0
10 HAFAHI B A2 5,040 5,040 0
OMReZ2=2LHsI| HEA EFOH U 24|
7,000 *30Y »23| x12& 5,040
HAL EEM A 17,600 17,600 0
307 2iz2to| & 17,600 17,600 0
04 QI2H8H AL R 17,600 17,600 0
OFAHA(AMZ) E2ZH HA 17,600,000 x13] 17,600
= IAN2Y 33,040 30, 140 2,900
HAI2HE A | 27,040 27,140 A 100
201 LBt ]| 26,640 27,140 A 500
02 22244l 26,640 27,140 A 500
OFSPIETE=: 800,000 x12& 9,600
O4,dlx=E232 30,000& ~12& 360
OJIEt 2822 300,000& 300
O A e & 400,000& 12& 4,800
OoRoAH 24 225,000 x12& 2,700
OJIEH Al&E & Hl S Xd| 200,000 x12& 2,400
Ox&E R XYl 300,000 x12& 3,600
OxgeEs= 1,200,000& 13| 1,200
OO0IZ Xt & Xl 40,000& x12& 480
OFANSIUB L2 100,000& x12& 1,200
405 KHoHFE S HI 400 0 400
01 JHMY 2= EF S HI 400 0 400
O=2JI(d7) 400,000 ~1CH 400
HALEE & 6,000 3,000 3,000
401 AlEHIZ 201 Y| 6,000 3,000 3,000
01 Al&H| 6,000 3,000 3,000
OFA HLEAIE %2 3,000,000 » 14l 3,000
OsHAddEESY 2 3,000,000 *14l 3,000
HER2AAH(DES) 64,015 59,297 4,718
olad 2 A Y| 32,575 27,857 4,718
ol 2AH| 32,575 27,857 4,718
101 21 214| 32,575 27,857 4,718
03 2INHA2 2 XNHE %= 32,575 27,857 4,718
OsFUMEH HAZZI A 32,575
-Jl2=
(1,860,510 «5& )+(1,877,880 7€) 22,448
— M ZAH| 90,000 x12& 1,080




2N DES
M HHR2IZH(LES)
& o 2d|
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
— B2 S0td|
(1,860,510&+1,877,880& ) *50% 1,870
L ECELE
(8,660 52 +8, 7402 »7& )*1 .58 x 15 Al 2+ 2,351
~guaesy
(8,660 +52 18,7402 +7& )*1 . 5UI *8A| 2H+2 2,508
ol
— QX 8, 7403 *BAl 2H+24 1,679
—MHEE = 31,936,0002 *20/ 1,000 639
Jl23l 31,440 31,440
Jl2&l 31,440 31,440
201 L2l 10,800 10,800
01 At 22l 10,800 10,800
FAN2EH| 80,0003 «6H x12& 5,760
OJles gl 70,0003 «6H «12& 5,040
202 oddl 10,800 10,800
02 M0 10,800 10,800
O HOHI 150,000 x6H «12& 10,800
203 YR =2t 9,840 9,840
01 JI122L =8 6,600 6,600
OJI228 =4l 550,000& »12& 6,600
02 A& H 2 =& 240 240
OFAN YD EAY| 40,0002 6% 240
04 FN2EHSFAH 3,000 3,000
ORN2EYEF=AHI 250,000 128 3,000




N & O &

o o Al

=H o

SN NES
PSP s FUXNXMEH 29
e XHE 2435 (&2 &)
CEH SR (BH) - NBAY - B2 o A o SSa H RS2
ANES 236,004 270,022 AN34,018
Al OIXXIMEH 29 174,772 213,282 A 38,510
MdE 243 108,090 111,450 A 3,360
XM 29 64,600 67,960 A 3,360
282 A H| 17,800 17,800 0
AP 22| B 13,800 13,800 0
OFoUXXHEH 23H| 400,000 x12& 4,800
OFOTXSARE 310 FMsg
30,000& *25H x12& 9,000
A A HI 4,000 4,000 0
OFUXXHEH HBLHS 2,000,000 2,000
OFUXXHEH AS L D& 2,000,000& 2,000
A2 =& 600 600 0
AMFRAHLF Y| 600 600 0
OAEABFZ 600,000& 600
utg A =2 41,200 41,560 A 360
SHAIAHI BEAZ 41,200 41,560 A 360
OFUNXIHE XS ALA AH 24
20,000& *130H x12& 31,200
OFUXXHE AlE2tel XN ESAX Al 2 A
20,000& *2Y 250 10,000
XH&HE S HI 5,000 8,000 A 3,000
MNAMLEEFSHI 3,000 4,000 A 1,000
OUHE 2EE(M ) 3,000, 0003 * 14 3,000
S AP 2,000 4,000 A 2,000
OS2 NE2Y A 2,000,000& 2,000
g fxel 29 10,200 10,200 0
282 A 10,200 10,200 0
AP 22| bl 8,400 8,400 0
ORRHHAREE £8H 700,008 128 8,400
02 33249l 1,800 1,800 0
oRE2 150,000& = 12& 1,800
s, U8 2sXd 30,770 30,770 0
301 dBEtE A= 30,770 30,770 0
05 -2 -BtEEEESEAZ 30,770 30,770 0
Os&sY 200,000& x9H x143] 25,200
Os&3 o &84 20,0003 *9H 23| x12& 4,320
(@)= PS = 25,0003 »25H *23] 1,250
MRt =52 US| 2,520 2,520 0




2A: Al
Al

g A 24
el FOUNXIME 2435t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 2,520 2,520 0
10 #ALAHIE A3 2,520 2,520 0
OMR&==2ZUSI HEx O S4dl
7,000 *30H «12& 2,520
= EAN2Y 66,682 76,832 A 10,150
F A2 3 37,682 37,832 A 150
201 Yet2 | 37,132 37,132 0
02 =224l 37,132 37,132 0
OFSPIN= 800,000& »12& 9,600
Odot=Ex 50,000& 122 600
Oxrgz 900,000& 128 10,800
OJIetEE23 & HA 500,000& 500
Ox&g=2d 800,000& = 1CH 800
O &k2te| =gl 400,000 x12& 4,800
Fo13H 892 176,000 128 2,112
OdJjetE e e+ 2 60,000& 122 720
OsZlIsA&e =8 200,000& 12& 2,400
OAHFH =2 100,000& 128 1,200
OXt& =Xl 300,000& «12& »1CH 3,600
405 XtAHE SHI 550 700 A 150
01 HatH ESFH S 550 700 A 150
O2MAH I (THA) 550,000& = 1CH 550
AL 29,000 39,000 A 10,000
401 Al HI L 2 THHI 29,000 39,000 10,000
01 Al tl 29,000 39,000 210,000
OANEEH ¥ MEMSZE S22
10,000,000& 10,000
Osgs X2 3,000,000& 3,000
OZoel HoAE EXI3A 16,000,000 16,000
HYR2IZHI(MNES) 61,232 56,740 4,492
A2 I 29,792 25,300 4,492
jeli=—aye: 29,792 25,300 4,492
101 @124l 29,792 25,300 4,492
03 RIHAZ 22 29,792 25,300 4,492
OsFQUdH FA2el& 29,792
—Jlzs
(1,686,860& «27 )+(1,704,220& 10 ) 20,416
— Z W Z A 90,000& 122 1,080
— S E =t
(1,686,860 +1,704,220& )*50% 1,696




2A: NES
B BHSABY(AES)
& o 2d|
% 5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 Coe
Ol & 24
— &= 20,0002 128 240
—NeRRAY
(7,890 x22 +7,960& »10& )+ 1. 581 »15A1 2+ 2,147
~guaesy
(7,890 +22 17,9602 « 10 )+ 1. 58] *BA| 2 *2 2,290
ol
— QX 7,9603 *8BAl 2+ *21 1,338
—MHEEE 29,207,000& %20/ 1,000 585
=23 31,440
JIE23l 31,440
22 H I 10,800
AFS 2t el 10,800
ORA2gH| 80,000 «6H 122 5,760
OJles gl 70,0003 «6H «12& 5,040
04 i 10,800
ERRE:] 10,800
O HOHI 150,000 x6H »12& 10,800
Q2= 9,840
22 YRFAH| 6,600
OJI&228 g2 =4l 550,000& 128 6,600
AN =X 240
OFJINH S =R 40,0003 x6H 240
04 FN2ILSF=TH 3,000
ORAN2EYE=AHI 250,000 128 3,000




